
TET cum TRT 

SGT – 19-01-2019 (S2) 

 

1. ‘Arbori Culture’ is  

 1. Rearing Silk moths 

 2. Rearing Mud crabs 

 3. Cultivation of trees and shrubs 

 4. Rearing of pearl oysters 

 »�s=Ò] ¿£\ÌsYµ nq>± 

 1. |�³T¼ º\¿£\ �|+|�¿£+ 

 2. eT&�|ÓÔá\ �|+|�¿£+ 

 3. e�¿�±\T, bõ<�\ kÍ>·T 

 4. eTTÔá«|�Ú º|�Î\ �|+|�¿£+ 

 

2. The person who spread “Green Revolution” in the world for the first 
time was 

 1. Norman Borlaug 

 2. M.S. Swaminathan 

 3. William. S. Gaud 

 4. Kurian 

 yîTT<�{ìkÍ]>± »V�²]Ôá $|�¢y���µ ç|�|�+#á+ýË y�«|¾ï #ûd¾q y�sÁT 

 1. H�sÁ�H� u¤s¢�>´ 

 2. M.S. kÍÇ$TH�<�̧H� 

 3. $*jáTy�T. mdt. >±&� 

 4. Å£�]jáTH� 
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3. This Planet is one of the inner Planets in solar system 

 1. Jupiter 

 2. Saturn 

 3. Neptune 

 4. Venus 

 kåsÁe«ed��ýË n+ÔásÁ e\jáT ç>·V�ä\ýË �~ ÿ¿£{ì 

 1. ��V�²d�ÎÜ 

 2. Xø� 

 3. Hî|��P¼«H� 

 4. Xø�çÅ£�&�T 

 

4. The highest percentage of gas that is present in the atmosphere is 

 1. Neon 

 2. Argon 

 3. Oxygen 

 4. Nitrogen 

 y�Ô�esÁD+ýË n~ó¿£XæÔá+ �q� y�jáTTeÚ 

 1. �jáÖH� 

 2. �s�ZH� 

 3. �¿ìàÈH� 

 4. HîÕç{ËÈH� 
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5. The State of Goa came into existence in the year  

 >Ãy� s�çw�¼+ @s�ÎfÉ®q d�+eÔáàsÁ+ 

 1. 1986 

 2. 1987 

 3. 1988 

 4. 1989 
 

6. At present this State has the highest number of seats in Legislative 
Assembly  

 1. Uttar Pradesh 

 2. Rajasthan 

 3. Bihar 

 4. West Bengal 

 ç|�d�TïÔá+ nÔá«~ó¿£ n�d+;¢ kÍ�H�\T ¿£*Ð eÚq� s�çw�¼+ 

 1. �ÔáïsÁç|�<ûXÙ 

 2. s�ÈkÍ�H� 

 3. ;V�äsY 

 4. |�¥ÌeT uÉ+>±ýÙ 
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7. As per census – 2011 these states stood first and least places in terms 
of literacy respectively are, 

 1. Kerala, Goa 

 2. Tripura, Kerala 

 3. Kerala, Bihar 

 4. Rajasthan, Jharkhand 

 2011 ÈH�uó² ýÉ¿£Ø\ ç|�¿±sÁ+ n¿£�s�d�«ÔáÅ£� d�+�+~ó+º nç>·kÍ�qeTT  

eT]jáTT ¿£�w�¼ kÍ�qeTT\ýË �q� s�çcÍ¼\T esÁTd�>± 

 1. ¹¿sÁÞø, >Ãy� 

 2. çÜ|�ÚsÁ, ¹¿sÁÞø 

 3. ¹¿sÁÞø, ;V�äsY 

 4. s�ÈkÍ�H�, C²sÁ�+&� 

 

8. ‘Silver Revolution’ is related to 

 1. Egg / Poultry Production 

 2. Milk / Dairy Production 

 3. Petroleum Production 

 4. Oil seeds Production 

 »sÁ�Ôá $|�¢e+µ B�¿ì d�+�+~ó+ºq~ 

 1. >·T&�T¢ / båç©¼ �ÔáÎÜï 

 2. bÍ\T / bÍ\ d�+�+<ó� |�<�s��\ �ÔáÎÜï 

 3. �|ç{Ë*jáT+ �ÔáÎÔáTï\T 

 4. qÖHîÐ+È\ �ÔáÎÜï 
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9. The gas usually filled in electrical bulbs is  

 1. Nitrogen 

 2. Hydrogen 

 3. Carbon dioxide 

 4. Oxygen 

 $<�T«ÔY �\TÒ\T kÍ<ó�sÁD+>± � y�jáTTeÚÔÃ �+|��&�Ô�sTT. 

 1. HîÕç{ËÈH� 

 2. �VÕ²ç&ÃÈH� 

 3. ¿±sÁÒH�&îÕ�Â¿íà&� 

 4. �¿ìàÈH� 

 

10. The smallest continent is 

 1. Asia 

 2. Africa 

 3. Australia 

 4. Antarctica 

 nÜ ºq� K+&�eTT 

 1. �d¾jáÖ 

 2. �ç|�¾¿± 

 3. �ç�d¼*jáÖ 

 4. n+{²]Ø{ì¿± 
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11. The currency of Argentina is 

 1. Euro 

 2. Peso 

 3. Real 

 4. Lira 

 nÂs¨+{¡H� <ûXø ¿£Âsúà 

 1. jáTÖsÃ 

 2. �|kþ 

 3. ]jáTýÙ 

 4. *s� 

 

12. The legislature of the South Africa is called as 

 1. Diet 

 2. Congress 

 3. State General 

 4. Parliament 

 <�¿ì�D �ç|�¾¿± Xæd�q d�uó�qT �ý² n+{²sÁT. 

 1. &îÕ{Ù 

 2. ¿±+çÂ>dt 

 3. �d¼{Ù ÈqsÁýÙ 

 4. bÍsÁ¢yîT+{Ù 
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13. ‘The Father of Mathematics’ is 

 1. Euclid 

 2. Archimedes 

 3. Adam Smith 

 4. Aristotle 

 »>·DìÔáXæçd�ï |¾Ô�eTV�Q&�Tµ 

 1. jáTÖ¿ì¢&� 

 2. �]ØyîT&�dt 

 3. �&�y�T d¾�ÔY 

 4. n]kÍ¼{ìýÙ 

 

14. This legendary person is called as ‘Iron Man of India’ 

 1. Sardar Vallabhbhai Patel 

 2. Jayaprakash Narayan 

 3. Dadabhai Naoroji 

 4. Abdul Gaffar Khan 

 »»uó²sÁÔá<ûXø �Å£�Ø eT�w¾µµ >± ç|�d¾~Æ #î+~q y�sÁT 

 1. d�s�ÝsY e\¢uó�uó²jYT |�fñýÙ 

 2. ÈjáTç|�¿±wt H�s�jáTDY 

 3. <�<�uó²jYT HêsÃ� 

 4. n�TÝýÙ >·b�ÍsY U²H� 
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15. ‘World Adult Day’ is observed on 

 1. 11th November 

 2. 16th November 

 3. 18th November 

 4. 21st November 

 »ç|�|�+#á ejîÖÈq ~HÃÔáàe+µ ÈsÁT|�ÚÅ£�Hû sÃE 

 1. qe+�sÁT ` 11 

 2. qe+�sÁT ` 16 

 3. qe+�sÁT ` 18 

 4. qe+�sÁT ` 21 

 

16. The XXI – Common Wealth Games 2018 were held at 

 1. Delhi 

 2. Gold Coast 

 3. Brisbane 

 4. Manchester 

 21e ¿±eTH�yîýÙï ç¿¡&�\T ` 2018 �¿£Ø&� È]>±sTT 

 1. &ó�©¢ 

 2. >ÃýÙ¦ ¿Ãdt¼ 

 3. ç_�dÒH� 

 4. eÖ+#îd�¼sY 

 

 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



17. The expanded form of ATM 

 1. Automatic Transaction Machine 

 2. Any Time Money 

 3. Automated Transact Money 

 4. Automated Teller Machine 

 ATM jîTT¿£Ø $d�ï  �Ôá sÁÖ|�+ 

 1. �{ËyûT{ì¿ù ç{²H�à¿£�H� yîTw¾H� 

 2. mú fÉ®y�T eTú 

 3. �{ËyûTfÉ&� ç{²H�à¿ù¼ eTú 

 4. �{ËyûTfÉ&� fÉ\¢sY yîTwÓH� 

 

18. The State Bird of present Andhra Pradesh is 

 1. Myna 

 2. Indian Roller 

 3. Bulbul 

 4. Parrot 

 ç|�d�TïÔá �+ç<ó�ç|�<ûXÙ s�çw�¼ |�¿ì� 

 1. yîT®H� 

 2. �+&�jáTH� sÃ\sY 

 3. �TýÙ�TýÙ 

 4. s�eTº\T¿£ 
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19. The first floating market was opened for the pubic in January 2018 
in 

 1. Bhuvaneswar 

 2. Amaravathi 

 3. Kolkata 

 4. Gandhi Nagar 

 Èqe], 2018ýË yîTT<�{ì b�þ¢{ì+>´ eÖÂsØ{Ù ç|�È\ ¿=sÁÅ£� � q>·sÁ+ýË 

çbÍsÁ+_ó+#á�&�+~. 

 1. uó�TeHûXøÇsY 

 2. neTs�eÜ 

 3. ¿ÃýÙ¿£Ô� 

 4. >±+Bóq>·sY 

 

20. 21st Chief Election Commissioner of India is 

 1. Om Prakash Rawat 

 2. Dr. Nasim Zaidi 

 3. T. N. Seshan 

 4. Achal Kumar Joti 

 uó²sÁÔá 21e ç|�<ó�q m��¿£\ ¿£MTw�qsY 

 1. z+ ç|�¿±wt s�eÔY 

 2. &�. qdÓ+ CÉÕ~ 

 3. {ì. bH�. Xâw�H� 

 4. n#áýÙ Å£�eÖsY CËÜ 
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21. The Commission / Committee which suggested introduction of 
Vocational Education at Secondary stage was 

 1. Kothari Commission 

 2. Sargent Committee 

 3. Mudaliar Commission 

 4. Hunter Commission 

 �d¿£+&�̄  kÍ�sTTýËHû e�Üï$<�«qT @s�Î³T #ûjáÖ\� d�Öº+ºq  

¿£MTw�H� / ¿£$T{¡ 

 1. ¿=sÄ�] ¿£MTw�H� 

 2. kÍsÁ̈+{Ù ¿£$T{¡ 

 3. yîTT<�*jáÖsY ¿£MTw�H� 

 4. V�²+³sY ¿£MTw�H� 

 

22. This document widely referred the deeper aspects of 
 “Learning without Burden”  

 »»uó²sÁ+ýñ� $<�«µµ �yû~¿£ýË� ýËÔîÕq n+Xæ*� $kÍïsÁ+>± ç|�kÍï$+#û 

&�Å£�«yîT+³T 

 1. NPE - 1986 

 2. NCF - 2005 

 3. NCFTE - 2009  

 4. NPEGEL 
  

win
Oval

win
Oval

win
Oval



23. Cranial Anomalies is a  

 1. Mental deformity  

 2. Physically disability 

 3. Learning disability 

 4. Social maladjustment 

 ç¹¿�jáTýÙ nHÃeT*dt, ÿ¿£ 

 1. eÖqd¾¿£ yîÕ¿£\«+ 

 2. Xæ¯sÁ¿£ yîÕ¿£\«+ 

 3. nuó�«d�q yîÕ¿£\«+ 

 4. kÍ+|�¾T¿£ $w�eTjîÖÈq+ 

 

24. The Chairperson of NCF-2005 is  

 1. Prof. Santha Sinha 

 2. Prof. Aravind Kumar 

 3. Prof. Yashpal 

 4. Prof. Rama Murthy 
 

 C²rjáT $<�« ç|�D²[¿± #áç³+ ` 2005 n<ó�«Å£��&�T 

 1. çbõ. Xæ+Ô� d¾H�½ 

 2. çbõ. nsÁ$+<� Å£�eÖsY 

 3. çbõ. jáTXÙbÍýÙ 

 4. çbõ. s�eTeTÖ]ï 
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25. Success schools are imparting Education in English Medium to 
these classes  

 d�Â¿àdt bÍsÄÁXæ\ýË¢ � ÔásÁ>·ÔáT\ y�]¿ì $<�«qT �+>·¢ eÖ<ó�«eT+ýË  

uË~ód�TïH��sÁT 

 1. 1 - 5 

 2. 1 - 10 

 3. 6 - 10 

 4. 8 - 10 

 

26. One of the following is a Financial Register 

 1. Stock Register 

 2. Stationery Register 

 3. Service Registers of Staff 

 4. Ledger 

 ¿ì+~ y��ýË ÿ¿£{ì �]Æ¿£|�sÁyîT®q ]�w�¼sY 

 1. kÍ¼¿ù ]�w�¼sY 

 2. �d¼w�q¯ ]�w�¼sY 

 3. d¾�Ò+~ d�̄ Çd�T ]�w�¼sÁT¢ 

 4. ýÉ&�̈sY 
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27. The establishment of DIETs all over the country is done according to 
the recommendation of 

 1. National Education Policy - 1986 

 2. Eshwaribai Patel Committee 

 3. Kothari Commission 

 4. Secondary Education Commission 

 &îÕ{Ù d�+d��\T, B� d¾bÍsÁTà\ yûTsÁÅ£� <ûXøeT+Ô� kÍ�|¾+#á�&îqT 

 1. C²rjáT $<�«$<ó�q+ ` 1986 

 2. �XøÇ¯u²sTT |�fñýÙ ¿£$T{¡ 

 3. ¿=sÄ�] ¿£MTw�H� 

 4. �d¿£+&�̄  $<�«¿£MTw�H� 

 

28. Name the project which gave provision for children below 14 years 
of poor families to study in well facilitated private schools in 
accordance with RTE Act - 2009 

 1. RMSA 

 2. NPEGEL  

 3. Eklavya 

 4. RAA 

 �sY.{ì.�. #á³¼+ ` 2009 ç|�¿±sÁ+, 14 d�+eÔáàs�\ýË|�Ú �|<� Å£�³T+u²\ 

|¾\¢\Å£� eT+º ed�ÔáT\ÔÃ Å£L&�q ç�|Õyû³T bÍsÄÁXæ\ýË #á<�e&��¿ì, ne¿±Xø+ 

¿£*Îd�Tïq� çbÍCÉÅ£�¼ 

 1. �sYby�Tbdtm 

 2. bH�|¾���býÙ 

 3. @¿£\e« 

 4. �sYmm 
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29. According to provisional census of 2011 of India the sex ratio 
between Female and Male is 

 2011 çbõ$ÈqýÙ ÈH�uó² ýÉ¿£Ø\ ç|�¿±sÁ+ uó²sÁÔá<ûXø+ýË çdÓï |�ÚsÁTw� �w�ÎÜï 

 1. 940 : 1000 

 2. 933 : 1000 

 3. 960 : 1000 

 4. 927 : 1000 

 

30. At the time of play, the number of players in a foot ball team is 

 �³ d�eTjáT+ýË, |�Ú{Ùu²ýÙ È³T¼ýË� ç¿¡&�¿±sÁT\ d�+K« 

 1. 9 

 2. 11 

 3. 13 

 4. 10 

  
31. The process of learning to recognize and express one’s feelings is 

1. Social development 

2. Emotional development 

3. Intellectual development 

4. Language development 

 ÿ¿£] d�+yû<�q\T >·T]ï+#áT³ eT]jáTT e«¿£ï|�sÁT#áT³ýË� nuó�«d�q $<ó�qeTT 

 1. kÍ+|�¾T¿£ $¿±d�eTT 

 2. �<ûÇ>· $¿±d�eTT 

 3. yûT<¸Ãd�+�+<ó� $¿±d�eTT 

 4. uó²cÍ $¿±d�eTT 
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32. The sense of hearing of an infant develops 

1. Even before birth 

2. In 2 months 

3. In 3 months 

4. In 4 months 

 ¥Xø�eÚ $�¿ì&� Xø¿ìï n_óe�~Æ #î+<û~ 

 1. ÈqH��¿ì eTT+<�T 

 2. 2e Hî\ýË 

 3. 3e Hî\ýË 

 4. 4e Hî\ýË 

 
 
33. According to James-Lange theory of emotion 

1. The experience of emotion depends on automatic arousal and 
one’s cognitive interpretation of that arousal 

2. Different patterns of autonomous activation lead to the 
experience of different emotions 

3. Emotion occurs when the thalamus sends signals 
simultaneously to the cortex and to the autonomic nervous 
system 

4. Emotions develop because of their adaptive value 

 Cñy�Tà`ý²+Cñ �<ûÇ>· d¾<�Ý+ÔáeTT ç|�¿±sÁeTT 

 1. �<ûÇ>· nqTuó�y�\T, ÿ¿£] d�ÇÔád¾à<�Ý ç�|sÁD eT]jáTT � ç�|sÁD 

d�+C²ãH��¿£Ôá $esÁD�|Õ �<ó�sÁ|�&�Ô�sTT. 

 2. d�ÇÔád¾à<�Ý �ÔûïÈ|�Ú $$<ó� qeTÖH�\T, $$<ó� �<ûÇ>· nqTuó�y�\Å£� 

<�]rkÍïsTT. 

 3. Ôáý²eTdt, ¿±Âs¼¿ùàÅ£� eT]jáTT d�ÇjáT+ �jáT+çÜÔáÇ H�&�e«ed��Å£� 

yî+³ yî+³Hû d¾>·�ýÙà |�+|�Ú³ e\q �<ûÇ>·+ @sÁÎ&�TÔáT+~. 

 4. �<ûÇ>±\T, y�{ì nqTd�sÁD $\Te e\q $¿£d¾kÍïsTT. 
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34. Ramu is always accomplishing difficult tasks. He will score higher 
in 

1. Need for affiliation 

2. Need for deference 

3. Need for achievement 

4. Need for abasement 

 s�eTT, ç|�ÜkÍ] ¿£w�¼yîT®q |�qT\qT kÍ~ód�TïH��&�T. nÔá� >·Dq B�ýË  

mÅ£�Øe>± �+³T+~ 
 

 1. nqT�<�ÝÔ�ed�sÁeTT 

 2. >�sÁy�ed�sÁeTT 

 3. kÍ<ó�H�ed�sÁeTT 

 4. neeÖH�ed�sÁeTT 

 
35. ‘Nativism’ is associated with 

1. Cognitive development 

2. Language development 

3. Emotional development 

4. Moral development 

 »kÍ��¿£Ôáµ Å£� B�ÔÃ d�+�+<ó�+ ¿£\<�T 

 1. d�+C²ãH�Ôá�¿£ $¿±d�eTT 

 2. uó²cÍ $¿±d�eTT 

 3. �<ûÇ>· $¿±d�eTT 

 4. HîÕÜ¿£ $¿±d�eTT 
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36. Noam Chomsky has presented evidence supporting his theory that 

1. Children learn language by imitating their parents 

2. Children are born with some rules of grammar programmed 
into their brains 

3. Vocabulary is innate but grammar is learnt 

4. Different languages have entirely different rules of grammar 

 HÃy�T #�y�TdÓØ Ôáq d¾<�Ý+ÔáeTTqT �\|�sÁT#áT³Å£� �ºÌq kÍ¿£�«+ 

 1. |¾\¢\T, y�] Ôá*¢<�+ç&�T\qT nqT¿£]+#áT³ <�Çs� uó²w�qT 

HûsÁTÌ¿=+{²sÁT 

 2. |¾\¢\T, y�] yûT<�̧d�TàýË çbþç>±y�T #ûjáT�&�q ¿=�� y�«¿£sÁD 

�jáTeÖ\ÔÃ |�Ú&�Ô�sÁT 

 3. |�<�C²\eTT Èq�Ôá'ed�Tï+~ ¿±� y�«¿£sÁD+ eÖçÔá+ HûsÁTÌ¿Ãy�* 

 4. $$<ó� uó²w�\Å£� |�P]ï>± $$<ó� y�«¿£sÁD �jáTeÖ\T+{²sTT 

 
 

37. Unconditional positive regard was stressed by 

1. Carl Rogers 

2. Ivan Pavlov 

3. Skinner 

4. Erickson 

 �]��+~óÔá y�d�ïy��� H=¿ìØ e¿±ØDì+ºqy�sÁT 

 1. ¿±sY¢ sÃÈsYà 

 2. �y�H� bÍeýËy� 

 3. d¾Øq�sY 

 4. m]¿ùd�H� 
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38. If children can comfortably explain new events in terms of existing 
schemes, they are in a state of 

1. equilibrium 

2. disequilibrium 

3. accommodation 

4. assimilation 

 |¾\¢\T, ç|�d�TïÔáeTTq� |�<�̧¿±\ <��cÍ¼« ¿=Ôáï d�+|��T³q\qT d�TH�jáÖd�+>± 

$e]+ºq, y�sÁT � <�XøýË �q�³T¢ nsÁ�+ 

 1. d�eTÔ�d¾�Ü 

 2. nd�eTÔ�d¾�Ü 

 3. nqT>·TD«Ôá 

 4. kÍ+o¿£sÁD 

 
 
39. The information processing approach to intelligence 

1. Defines the structure of intelligence 
2. Understands intelligence by examining the mental operation 
3. Understands intelligence by examining the information 

processing 
4. Understands intelligence by examining the test scores 

 ç|�ÈãÅ£� �qÎÛ¹s�w�H� çbÍ�dd¾+>´ �|�>·eTeTT ... 

 1. ç|�Èã �s��D²�� �sÁÇºd�Tï+~. 

 2. eÖqd¾¿£ ¿±sÁ«¿£ý²bÍ\qT |�]o*+#áT³ <�Çs� ç|�ÈãqT nsÁ�+  

#ûd�T¿=+³T+~. 

 3. �qÎÛ¹s�w�H� çbÍ�dd¾+>´qT |�]o*+#áT³ <�Çs� ç|�ÈãqT nsÁ�+ 

#ûd�T¿=+³T+~. 

 4. �¿£w� >·Dq\qT $Xâ¢w¾+#áT³ <�Çs� ç|�ÈãqT nsÁ�+ #ûd�T¿=+³T+~. 
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40. This test is intended to measure what you have learnt 

1. interest test 

2. aptitude test 

3. achievement test 

4. intellectual test 

 úeÚ HûsÁTÌ¿=q� <��� ¿=\T#áT³Å£� �<ûÝ¥+ºq �¿£w� 

 1. n_ósÁTº |�̄ ¿£� 

 2. d�V�²È kÍeTsÁ�« |�̄ ¿£� 

 3. kÍ<ó�q |�̄ ¿£� 

 4. ç|�C²ã |�̄ ¿£� 

 

41. For most people the idea of a “bird” is 

1. A heuristic 

2. A script 

3. An artificial concept 

4. A natural concept 

 #�ý²eT+~ ç|�È\Å£� »»|�¿ì�µµ jîTT¿£Ø uó²eeTT 

 1. d�ÇjáTeTT>± ¿£qT>=Hû~ 

 2. s�Ôáç|�Ü / *|¾ 

 3. ¿£�çÜeT uó²eq 

 4. d�V�²È uó²eq 
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42. The mental disorder that leads to Gross Mental Deterioration is 

1. Obsessive compulsive neurosis  

2. Hypochondriasis 

3. Psychoneurosis 

4. Neurasthenia 

� eÖqd¾¿£ n|�e«ed�� d�eTç>· eÖqd¾¿£ ¿£�jáÖ�¿ì <�]rd�Tï+~. 

 1. n�jáT+çÜÔá ` �sÁÒÛ+<ó�¿£ H�&� sÁT>·�Ôá 

 2. d�ÇXø̄ sÁ <�T¥Ì+Ôá 

 3. eTHÃ$¿ì�|¾ï 

 4. <êsÁÒÛ\« ç|�Ü#ásÁ« 

 
43. If the teacher finds that the students forget the lesson due to 

retroactive inhibition or proactive inhibition then he can overcome 
this problem by 

1. Highlighting similarities and differences between the present 
lesson and past lesson 

2. Avoiding traumatizing the students 
3. Providing opportunities for repetition 
4. Teaching specific the retrieval cues 

 |�ÚsÃ>·eTq nesÃ<ó�+ (ýñ<�) ÜsÃ>·eTq nesÃ<ó�+ e\q, |¾\¢\T bÍsÄ��� 

eT]ÌbþsTTq³T¢ Ôî\Td�T¿=�q �bÍ<ó�«jáTT&�T, ¿ì+~ $<ó�q+ <�Çs�  

� d�eTd�«qT n~ó>·$TkÍï&�T  
 

 1. ç|�d�TïÔá bÍsÄ��¿ì, �+ÔáÅ£� eTT+<�T bÍsÄ��¿ì>·\ bþ*¿£\T, uñ<ó�\T 

�VÕ²ýÉÕ{Ù #ûjáTT³ <�Çs� 

 2. $<�«sÁT�\qT eÖqd¾¿£ V¾²+d�Å£� >·T]#ûjáTÅ£�+&� �+&�T³ <�Çs� 

 3. |�Úqs�e�ÔáeTTqÅ£� ne¿±XøeTT\T ¿£*Î+#áT³ <�Çs� 

 4. Ü]Ð C²ã|�¿£eTT #ûd�T¿=qT³Å£� �|�jîÖÐ+#û d�+Èã\qT 

uË~ó+#áT³ <�Çs� 

 

win
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44. In order to get material into permanent storage, it must be made 
meaningful while it is in 

1. Sensory memory 

2. Working memory 

3. Long term memory 

4. Recall memory 

 $w�jáÖ\qT XæXøÇÔá uó�ç<�ÔáýË�¿ì rd�T¿=�yîÞø�ß³Å£� n~ � ç¿ì+~ d�� �ÜýË  

�q�|�ÚÎ&û nsÁ�e+ÔáeTT #ûjáÖ*. 

 1. d�+yû<�q d�� �Ü 

 2. ç¿ìjáÖÔá�¿£ d�� �Ü 

 3. BsÁé¿±*¿£ d�� �Ü 

 4. |�Úq'd��sÁD d�� �Ü 

 
 
45. Asha memorized her shopping list. When she got to the store, 

however, she found she had forgotten many of the items from the 
middle of the list. This is an example of 

1. Inappropriate Encoding 

2. Retrograde amnesia 

3. Proactive interference 

4. The serial-position effect 

 �cÍ, Ôáq cÍ|¾+>´ C²_Ô�qT C²ã|�¿£+ �|³T¼¿=� kþ¼sY¿ì yî[ß+~, ¿±ú, Ôáq  

C²_Ô�ýË eT<ó�«ýË �q� #�ý² ed�TïeÚ\qT eT]ÌbþsTTq³T¢ ¿£qT>=q�~. 

�~ B�¿ì �<�V�²sÁD 

 1. nqqT>·TD«yîT®q mH�¿Ã&�+>´ 

 2. ÜsÃ>·eTq eTÜeTsÁT|�Ú 

 3. ç¿ìjáÖo\¿£ CË¿£«+ 

 4. esÁTd�ç¿£eT kÍ�q ç|�uó²eeTT 
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46. While studying memory and forgetting this psychologist used  
nonsense syllables 

1. Ebbinghaus 

2. Thurstone 

3. Liebzig 

4. Wundt 

 »d�� �Üµ eT]jáTT $d�� �Ü >·T]+º n<ó�«jáTq+ #ûd�Tïq�|�ÚÎ&�T, � eTHÃ$C²ãq  

Xæçd�ïyûÔáï nsÁ�+ýñ� |�<�+Xæ\T y�&�sÁT. 

 1. m_Ò+>´V�ädt 

 2. <�̧sYd�¼H� 

 3. ýÉuÙ�>´ 

 4. }+{Ù 

 

47. The defense Mechanisms that satisfies one’s day dreams and desires  

1. Repression 

2. Rationalization 

3. Fantasy 

4. Displacement 

 ÿ¿£] |�>·{ì ¿£\\qT, ¿Ã]¿£\qT Ôá�|¾ï|�sÁ#û sÁ¿£�¿£Ôá+çÔáeTT 

 1. <�eTq+ 

 2. �V²ÔáTy�<� $esÁD 

 3. �dÕÇsÁ¿£\Îq 

 4. $kÍ�|�q+ 

 
 
 
  

win
Oval

win
Oval

win
Oval

win
Oval



48. This psychologist is of the opinion that dream is an expression of the 
most primitive workings and contents of the human mind 
1. Horney 

2. Freud 

3. Adler 

4. Jung 

 eÖqeyûT<ó�d�TàýË� $w�jáÖ\T, |�PsÁÇ|�Ú ç¿ìjáT\ jîTT¿£Ø e«¿¡ï¿£sÁDñ 

»¿£\µ nq�~ ¿ì+~ eTHÃyîÕC²ã�¿£ Xæçd�ïyûÔáï n_óçbÍjáTeTT 

 1. V�ä]� 

 2. çb�ÍsTT&� 

 3. n&�¢sY 

 4. È+>´ 

 

49. The alarm stage of Hans Selye’s general adaptation syndrome is 
essentially the same as 

1. The fight or flight response 

2. Constructive coping 

3. Approach – avoidance conflict 

4. Secondary appraisal 

 V�äH�à �d*Ç à ÈqsÁýÙ n&��|¼w�H� d¾+ç&Ãy�T jîTT¿£Ø ¿£\esÁd¾�Ü 

 1. bþs�³ (ýñ¿£) bÍ]bþeÚ ç|�ÔáT«ÔáïsÁeTT 

 2. �s��D²Ôá�¿£ m<�TsÃØ\T (�sÁÇV�²D) 

 3. �|�>·eT ` |�]V�äsÁ d�+|��TsÁüD 

 4. ~ÇrjáT n+#áH� 
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50. The four principle sources of stress are 

1. Frustration, conflict, pressure and anxiety 

2. Frustration, anger, pressure and change 

3. Anger, anxiety, depression and annoyance 

4. Frustration, conflict, pressure and change 

 ÿÜï&� jîTT¿£Ø H�\T>·T ç|�<ó�q �<ó�s�\T 

 1. Å£�+sÄÁq+, d�+|��TsÁüD, |Ó&�q+ eT]jáTT �+<ÃÞøq 

 2. Å£�+sÄÁq+, ¿Ã|�eTT, |Ó&�q+ eT]jáTT eÖsÁTÎ 

 3. ¿Ã|�+, �+<ÃÞøq, eÖ+<�«+ eT]jáTT yû<�q 

 4. Å£�+sÄÁq+, d�+|��TsÁüD, |Ó&�q+ eT]jáTT eÖsÁTÎ 

51. ¿ì+~ bÍçÔá\T >·\ bÍsÄ�«+Xæ\qT >·T]ï+#á+&�. 

 (n) �+>±sÁTbÍ|�    (jáT) XèÕ\È 

(�) eTqd�T+fñ eÖsÁZ+   (sÁ) Xø]�\ 

(�) ç|�jáTÜ��dï    (\) CË«Ôáà� 

(�) e�<¸�#ûjáT+    (e) ç|�Èã 

 1. n`eÑ  �`jáTÑ �`eÑ  �`\ 

 2. n`eÑ �`\Ñ �`sÁÑ  �`jáT 

 3. n`jáTÑ �`\Ñ �`sÁÑ  �`e 

 4. n`sÁÑ �`eÑ �`\Ñ  �`jáT 

52. ¿ì+~ y��ýË d�ÂsÕq |�<�«bÍ<� ç¿£eÖ�� >·T]ï+#á+&�. 

 (n) �sÁJeÔáÇ+�T 

(�) uó�[¹s 

(�) ¥*ÎÈ>·+�TýËq 

(�) d��w¾¼+#áT¿Ã 

 1. �, �, n, � 

 2. �, n, �, � 

 3. �, �, n, � 

 4. n, �, �, � 

win
Oval

win
Oval

win
Oval

win
Oval



53. »»Ð]¿±sÁT�¿£ �sÁZÔáyîT® 

V�²]XøsÁeT|�Ú&�d�TsÁesÁ |�Ús�_óeTTK+uÉÕµµ 

� |�<�«bÍ<�\ýË >·\ n\+¿±sÁ+ 

 1. jáTeT¿£+ 

 2. d�Çuó²yÃ¿ìï 

 3. $uó²eq 

 4. sÁÖ|�¿£+ 

54. »Ôá$T�µ |�<��¿ì nsÁ�+ 

 1. #î$ n&�T>·Tuó²>·+ 

 2. |�<��+ 

 3. Ôáq�jáTÔáÇ+ 

 4. bÍsÁD 

55. XæsÁÖÝ\ $ç¿¡&�ÔáeTT |�<�«+ýË� >·TsÁTeÚ\ d�+K« 

 1. 44 

 2. 48 

 3. 54 

 4. 62 

56. »»eÖ$T&�>·Tq�µµ � |�<�+ýË >·\ d�eÖd�+ 

 1. $Xâw�D |�PsÁÇ|�<� ¿£sÁ�<ó�sÁjáT d�eÖd�+ 

 2. �|�eÖq �ÔáïsÁ|�<� ¿£sÁ�<ó�sÁjáT d�eÖd�+ 

 3. $Xâw�D �ÔáïsÁ|�<� ¿£sÁ�<ó�sÁjáT d�eÖd�+ 

 4. �|�eÖq |�PsÁÇ|�<� ¿£sÁ�<ó�sÁjáT d�eÖd�+ 

win
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57. ¿£sÁTe*, n�\eTT nHû |�s�«jáT|�<�\T >·\ |�<�+ 

 1. nq\eTT 

 2. >±&� 

 3. nXø� 

 4. >±&�TÎ 

58. »»u²<�s�jáTDT&�Tµµ nqT �|sÁT >·\y�sÁT 

 1. Xø�Å£�&�T 

 2. y�«d�T&�T 

 3. �~ósÁT&�T 

 4. u\s�eTT&�T 

59. »|�È¨µ |�<��¿ì >·\ H�H�s��\T 

 1. <�>·ZsÁ, yîqT¿£, eÖsÁZ+ 

 2. |��, bÍqTÎ, ¿=��jîT&�\ 

 3. �dÈ¨, |�{ì¼, |¾+&�\eTT 

 4. <�ÖsÁ+, |�Ú+J, |�<�TqT 

60. »»nD²ÇjáTT<ó�eTTµµ � |�<�+ýË>·\ d�+~ó 

 1. d�esÁ�BsÁé d�+~ó 

 2. jáTD²<ûXø d�+~ó 

 3. >·TDd�+~ó 

 4. e�~Æd�+~ó 
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61. »»sÁ$ >·+³ýË e+<� |�<�«\T n|�ÎCÉ|�Î>·\&�Tµµ. � y�¿£«+ 

 1. nqTeTÔá«sÁ�¿£ y�¿£«+ 

 2. ��w<ó�sÁ�¿£ y�¿£«+ 

 3. $<ó�«sÁ�¿£ y�¿£«+ 

 4. kÍeTs��«sÁ�¿£ y�¿£«+ 

62. »»me] _&�¦\eÖ�, �+ 

>±sÁT Ôá\T¢ý²sÁ MTsÁT! 

H�Å£� �de #ûd¾H�sÁT 

H� çbÍDeTT �*|¾H�sÁTµµ � ¹>jáT|�+Å£�ï\T >·\ bÍsÄ�«+Xø+ 

 1. �+>±sÁTbÍ|� 

 2. C²]q >·T+&î 

 3. çyîÖÐq >·+³\T 

 4. º\T¿£ d�+<ûXø+ 

63. »d¾+V�²+`Å£�+<û\Tµ ¿£<�̧qT H�{ì¿£ sÁÖ|�+ýË s�jáTeTq&�+ 

� $<�«ç|�eÖD+ 

 1. d��ÈH�Ôá�¿£Ôá 

 2. ç|�Xø+d� 

 3. dÓÇjáTsÁ#áq 

 4. #á<�e&�+`nsÁ�+ #ûd�T¿Ãe&�+ 
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64. »»d�Üïµµ nHû |�<��¿ì ç|�¿£�Ü 

 1. d�TïÜ 

 2. d�Ö¿ìï 

 3. d�Ôá«eTT 

 4. Xø¿ìï 

65. »»ú ÐHî�Å£� eTsÃ ÐHî� |�Ú³¼&�+ �ÈeTsTTq|�Úð&�T ÐHî�\T bÍ]bþe&�+ Å£L&�  

�ÈyûT>±µµ �ý² MsÁT M]ÔÃ nH��sÁT. 

 1. ÔîH�* s�eT¿£�w�§�&�T esÁV�ä\jáT«ÔÃ 

 2. s�E esÁV�ä\jáT«ÔÃ 

 3. ;sÁÒýÙ n¿£ÒsYÔÃ 

 4. ¥ejáT« bÍ|�jáT«ÔÃ 

66. »»d�T<�sÁôH� �<�jáT+ yîTT¿£Ø\T H�{²&�Tµµ � y�¿£«+ýË ¿£sÁ� 

 1. H�{²&�T 

 2. d�T<�sÁôH� 

 3. yîTT¿£Ø\T 

 4. �<�jáT+ 

67. $V�²]+|��eÖ�! $V�²]+|��eÖ� ..... ¹>jáT sÁ#ásTTÔá 

 1. È+<ó�«\ bÍ|�jáT« Xæçd¾ï 

 2. Ð&�T>·T s�CñXøÇsÁs�eÚ 

 3. y�qeÖeTýÉÕ esÁ<�#�sÁT«\T 

 4. >·TsÁC²&� s�|��TeXøsÁ� 
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68. »»>±+Bó >±sÁT Ô�qT q$T�q $w�jáÖ\qT �#á]+#ûy�sÁT. @<îÕH� Ô�eTT  

�#á]+ºq ÔásÁTy�Ôû �ÔásÁT\Å£� #î�|Îy�sÁT.µµ �|Õ y�¿±«\ýË >·\ $uó�Å£�ï\T 

 1. Ôá�rjáÖ $uó�¿ìï, #áÔáT¯� $uó�¿ìï 

 2. d�|�ïMT $uó�¿ìï, |�+#áMT $uó�¿ìï 

 3. ~ÇrjáÖ $uó�¿ìï, w�wÓ÷ $uó�¿ìï 

 4. Ôá�rjáÖ $uó�¿ìï, |�+#áMT $uó�¿ìï 

69. »»�çw�ÎjîÖÈqyîT®q eÖ³\Tµµ nHû nsÁ�+ýË � C²rjáÖ�� �|�jîÖÐkÍïsÁT. 

 1. }¿£<�+|�Ú&�T 

 2. ¿£*¿ìÔáTs�sTT 

 3. |�&�T>·Ö�|¿£ 

 4. Xø\«|�̄ ¿£� 

70. »»n_óq+~�dï �q+~kÍï+ 

ç�|eTqT |�+ºÔû kÍÇ>·ÜkÍï+µµ �+<�TýË n_óq+~�dï, |�+ºÔû nHû ç¿ìjáT\T 

 1. ¿±ïÇsÁ�¿£ ç¿ìjáT\T 

 2. XøçÔásÁ�¿£ ç¿ìjáT\T 

 3. n|�«sÁ�¿£ ç¿ìjáT\T 

 4. #û<�sÁ�¿£ ç¿ìjáT\T 

71. ÿ¿£ uó²w�ýË çbÍMD«Ôá eTsÃ uó²cÍuó�«d�H��� d�T\uó�ÔásÁ+ #ûd�Tï+~. 

B�¿ì ¿±sÁDyîT®q d�ÖçÔá+ 

 1. kÍ��¿£ eqsÁT\ $�jîÖ>·+ 

 2. nuó�«d�q �<�ý²sTT+|�Ú 

 3. \¿£�D¡¿£sÁD+ 

 4. nuó�«d�q ¿£�Ôá«¿£\Îq 

win
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72. Ôî\T>·T kÍV¾²Ôá« $XâcÍ\qT $<�«sÁT�\Å£� Ôî*jáTCñd�Öï »È¿£Øqµ sÁº+ºq 

¿±e«+>± B�� �|s=Ø+{²eÚ. 

 1. ç|�uóË<� #á+ç<Ã<�jáTeTT 

 2. CÉÕ$T� uó²sÁÔáeTT 

 3. $ç¿£eÖsÁØ #á]çÔá 

 4. $ç|�H�s�jáTD #á]çÔá 

73. $uó�¿ìï ç|�Ôá«jáT uË<ó�qýË #áÔáT¯� $uó�¿ìï� �ý² �|s=Øqe#áTÌ. 

 1. d�+ç|�<�q+ 

 2. nbÍ<�q+ 

 3. d�+�+<ó�+ 

 4. n~ó¿£sÁD+ 

74. »y�sÁTeeTTµ nHû |�<��� ÿ¿£ $<�«]� »y�eÚsÁeTTµ n� |�*¿±&�T. B�� 

uó²cÍXæçd�ï+ýË �ý² n+{²sÁT. 

 1. esÁ� $uóñ<�q+ 

 2. esÁ� d�MT¿£sÁD+ 

 3. esÁ� ýË|�+ 

 4. esÁ� e«Ôá«jáT+ 

75. ~ÇrjáT uó²w�>± Ôî\T>·T uË<ó�qýË �ºÔáyîT®q |�<�ÆÜ ¿±�~ 

 1. ç|�Ôá«¿£� |�<�ÆÜ 

 2. nqTy�<� |�<�ÆÜ 

 3. d���yûXø |�<�ÆÜ 

 4. d�+uó²w�D² |�<�ÆÜ 
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76. ç|�d�TïÔá+ neT\TýË �q� d�+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£q+ýË  

6, 7, 8 ÔásÁ>·ÔáT\ýË uó²cÍ+Xæ\Å£� ¹¿{²sTT+#á�&�q eÖsÁTØ\T 

 1. 24 

 2. 36 

 3. 20 

 4. 10 

77. ç|�Ü d�+eÔáàsÁ+ n¿Ã¼�sÁT 5e ÔûBq ÈsÁT|�Ú ~HÃÔáàe+ 

 1. ç|�|�+#á eÖÔá�uó²cÍ ~HÃÔáàe+ 

 2. C²rjáT �bÍ<ó�«jáT ~HÃÔáàe+ 

 3. ç|�|�+#á eTV¾²Þ² ~HÃÔáàe+ 

 4. ç|�|�+#á �bÍ<ó�«jáT ~HÃÔáàe+ 

78. ýñU²sÁ#áq uË<ó�H�ç¿£eT+ 

 1. ç|�yûXø+, ç|�<�sÁôq, |�Úq]ÇeTsÁô, Â>ÕV¾²¿£+ 

 2. ç|�<�sÁôq, ç|�yûXø+, |�Úq]ÇeTsÁô, Â>ÕV¾²¿£+ 

 3. Â>ÕV¾²¿£+, ç|�<�sÁôq, ç|�yûXø+, |�Úq]ÇeTsÁô 

 4. Â>ÕV¾²¿£+, ç|�<ûXø+, ç|�<�sÁôq, ç|�yûXø+ 

79. »Ôî*d¾q $w�jáT+ qT+&� Ôî*jáT� $w�jáÖ�¿ìµ ` nHû eTHÃ$C²ãq XæçkÍï�� 

nqTd�]+º yîTT<�{ì kÍ]>± bÍsÄÁXæ\Å£� eºÌq $<�«]�¿ì #î�|Î n+Xø+ 

 1. n¿£�s�\qT ~~Ý+#á&�+ 

 2. ¥Xø� ¹>jáÖ\T #î|�Î&�+ 

 3. uËsÁT¦�|Õ s�d¾q n¿£�s��� #á<�eeTq&�+ 

 4. ¿£�Ô�«\ <�Çs� n¿£�s�\qT HûsÁÎ&�+ 
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80. uó�jáT+, ¿Ã|�+, d�+ÔÃw�+ yîTT<�\>·T uó²y�\T yî\¢&� njûT«³|�ÚÎ&�T �|{ì¼q 

nç|�jáTÔá�|�Ú ¹¿¿£ýñ uó²w�Å£� eTÖ\+ nq� y�<�+ 

 1. <ó�Çq«qT¿£sÁDy�<�+ 

 2. jîÖ V¾² V�²Ã y�<�+ 

 3. ç|�¿£+|�H�y�<�+ 

 4. |�P |�P y�<�+ 

81. Choose the master piece of Jane Austen from the following: 

 1. Sybil 

 2. Emma 

 3. The Animal Farm 

 4. Clarissa 

 

82. R.K. Narayan was the author of the following. 

 1. Julius Caesar 

 2. Coriolanus 

 3. The Guide 

 4. Volpone 

 

83. The poem ‘Piano’ by D.H. Lawrence is: 

 1. a fifteen-line blank verse sonnet 

 2. a twelve-line sonnet 

 3. an ode 

 4. an elegy 
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84. The essay ‘I Have a Dream’ was written by: 

 1. Ben Hecht 

 2. Ernest Hemingway 

 3. Jack London 

 4. Martin Luther King Jr. 

 

85. The following comes first in a short story. 

 1. Introduction of the main character 

 2. Narrative lead 

 3. The problem faced by the main character 

 4. The protagonist comforting the antagonist. 

 

86. Choose the private letter from the following.  

 1. A letter to a college principal 

 2. A letter to a postmaster 

 3. A letter of invitation 

 4. A letter of complaint 

 

87. Does he work for ……….. higher salary? 
 Choose the correct article that fits the blank. 

 1. a 
 2. an 

 3. the 

 4. No article is needed. 
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88. Once …….. old hermit saw ……… kite catch ……. little mouse. 

 Choose the correct list of articles that fits the three blanks 
respectively. 

 1. a, a, an 

 2. an, a, a 

 3. the, a, a  

 4. an, a, the 

 

89. He was intent ……….. winning a scholarship. 

 Choose the correct preposition that fits the blank.   

 1. in 

 2. on 

 3. at 

 4. by 

 

90. Choose the correct sentence regarding the use of prepositions. 

 1. You are blessed with good health. 

 2. You are blessed for good health. 

 3. You are blessed by good health.  

 4. You are blessed at good health. 
 

91. Neither of the two sisters can be trusted. 

 Choose the part of speech of the word, ‘neither’. 

 1. a conjunction 

 2. a pronoun 

 3. an adjective 

 4. an adverb 
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92. Choose the sentence with two nouns in it. 

 1. The director gave permission. 

 2. He explained in utter disappointment. 

 3. The scientist was surprised. 

 4. He hurriedly got up and rushed to the chamber. 

 

93. Tell me where you live. 

 Choose the correct simple sentence of the above sentence. 

 1. You tell the address. 

 2. Who can tell the address. 

 3. Let me know where you live.  

 4. Tell me your address. 

 

94. Doctor, is your wife very fat ? 

 Choose the true statement regarding the above sentence. 

 1. This is an YES / NO question. 

 2. This is a WH question. 

 3. This is a negative interrogative sentence. 

 4. This is a statement. 
 

95. I am writing a letter at present. 

 This sentence indicates: 

 1. an action which was in progress in the past. 

 2. an action that will happen in the future. 

 3. an action that has already happened.  

 4. an action which is in progress at the time of speaking. 
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96. I showed him what I ………….. . 

 Choose the grammatically correct expression that fits the blank.  

 1. will have written 

 2. will write 

 3. had written 

 4. have been write 

 

97. As soon as he ………….. the poem, the people cheered him. 

 Choose the correct tense form that fits the blank. 

 1. recites 

 2. is reciting 

 3. had recited 

 4. will have recited 

 

98. Choose the word with ‘stress’ on the first syllable. 

 1. acclaim 

 2. adventure 

 3. enjoy  

 4. happy 

 

99. Choose the word that has the sound  / iː / 

 1. sit 

 2. seal 

 3. sat 

 4. sell 
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100. Choose the word in which the letter ‘t’ is silent. 

 1. depot 

 2. night 

 3. shelter  

 4. mysterious 

 

101. The combination of Anglo-Saxon and Anglo –Norman gave birth to 

 1. Modern English  

 2. Old English 

 3. Middle English 

 4. Johnson’s English 

 

102. The English & Foreign Languages University is situated in  

 1. New Delhi 

 2. Hyderabad 

 3. Bangalore 

 4. Mysore 

 

103. In the word ‘zoo’, / z / is 

 1. an unvoiced, alveolar and nasal sound. 

 2. an unvoiced, bilabial and plosive sound. 

 3. a voiced, bilabial and plosive sound. 

 4. a voiced, alveolar and fricative sound. 
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104. Reading is 

 1. a receptive skill. 

 2. a productive skill. 

 3. a non-receptive skill. 

 4. an organizational skill. 

 

105. The teacher directs and the students act in response. This is the 
feature of 

 1. Grammar- Translation Method 

 2. Bilingual Method 

 3. Total Physical Response Method 

 4. Direct Method 

 

106. The words which do not carry the main meaning of the sentence are 
called. 

 1. content words 

 2. unique words 

 3. structural words 

 4. special words 

 

107. “I have always felt that the true textbook for the pupil is his teacher” 

 This statement was given by 

 1. Michael West 

 2. Lal Bahadur Sastri 

 3. Richards 

 4. Mohandas Karamchand Gandhi 

 

win
Oval

win
Oval

win
Oval

win
Oval



108. The basis for the concept of Micro-teaching is the theory of 

 1. physiological conditioning  

 2. fine conditioning 

 3. operant conditioning 

 4. remedial conditioning 

 

109. “Children’s thinking and meaning making are socially constructed 
and emerge out of their social interactions with their environment” 

 The above quotation was given by 

 1. Johnson 

 2. Vygotsky 

 3. Maria Montessori 

 4. William Blaker 

 

110. While designing a multiple choice question a teacher should take 
care that 

 1. the choices given include only one correct answer. 

 2. all the choices given are correct answers. 

 3. all the choices given are wrong answers. 

 4. the choices given include two correct answers. 

 

  

win
Oval

win
Oval

win
Oval



111. If the number is divided into two parts such that one part is 12 more 
than the other are in the ratio of 7 : 5 then the number is  

ÿ¿£ d�+K«ýË ÿ¿£ uó²>·eTT Âs+&�e uó²>·eTT¿£+fñ 12 mÅ£�Øe>± �+&û³³T¢  

7 : 5 �w�ÎÜïýË $uó��+|��&�q � d�+K« 

 1. 58 

 2. 62 

 3. 72 

 4. 76 

 

112. Length of a rectangle is 10 more than its breadth and its perimeter is 
140cm, then the area is (in cm2) 

BsÁé#áÔáTsÁçd�+ jîTT¿£Ø bõ&�eÚ <�� yî&�\TÎ¿£H�� 10 mÅ£�Øe eT]jáTT <��  

#áT³T¼¿=\Ôá 140 �d+.MT nsTTq <�� yîÕXæ\«+ (�d+.MT
2
 \ýË) 

 1. 1200 

 2. 1100 

 3. 1150 

 4. 1120  

 

113. Product of two numbers is 155520 and their H.C.F is 72 then its 
L.C.M is  

Âs+&�T d�+K«\ \�Ý+ 155520 eT]jáTT y�{ì >·.kÍ.uó² 72 nsTTq y��  

¿£.kÍ.>·T 

 1. 1860 

 2. 2160 

 3. 2060 

 4. 1960 

 

win
Oval

win
Oval

win
Oval



114. From the adjacent figure OA = AB, ÐA = xo,  

 ÐC = 2xo and CD = OD then the value of ‘x’ is  

 ç|�¿£Ø |�³+ýË OA = AB, ÐA = xo, ÐC = 2xo eT]jáTT 

CD = OD  nsTTq ‘x’ $\Te 

 1. 42o 

 2. 40o 

 3. 38o 

 4. 36o 

 

115. If  ( )
3 3

181 3243 3 3
5 5

x o
-

-æ ö æ ö´ ´ ´ =ç ÷ ç ÷
è ø è ø

 then the value of ‘x’ is  

( )
3 3

181 3243 3 3
5 5

x o
-

-æ ö æ ö´ ´ ´ =ç ÷ ç ÷
è ø è ø

 nsTTq ‘x’ $\Te 

 1. 4 

 2. 3 

 3. 2 

 4. 1 

  

win
Oval

win
Oval



116. A metallic cuboid of dimensions 32cm, 16cm and 8cm is melted and 
formed into small cubes with side of 8cm then the number of cubes 
so formed is  

32 �d+.MT, 16 �d+.MT eT]jáTT 8 �d+.MT ¿=\Ôá\T>± >·\ ýËV�²|�Ú  

BsÁé|��TqeTTqT ¿£]Ð+º, 8 �d+.MT uó�TÈeTT>± >·\ d�eT|��TqeTT\qT bþjáT>± 

e#áTÌ d�eT|��TqeTT\ d�+K« 

 1. 8 

 2. 10 

 3. 11 

 4. 12 

 

117. The value of  ( ) ( ) ( )3 3 328 15 13+ - + -  is 

( ) ( ) ( )3 3 328 15 13+ - + -  $\Te 

 1. - 16380  

 2. 15380 

 3. 16380 

 4. - 15380 
 

118. In the adjacent figure lines AB and CD 
intersect each other at point ‘O’ and 
ÐBOC : ÐCOA = 7 : 5 then the angles 
are  

ç|�¿£Ø|�³+ýË AB eT]jáTT CD \T _+<�TeÚ ‘

O’ e<�Ý K+&�+#áT¿=qT#áTq�$. ÐBOC : ÐCOA = 7 : 5 nsTTq � ¿ÃD²\T 

 1. ÐBOC = 110o,  ÐCOA = 70o 

 2. ÐBOC = 105o,  ÐCOA = 75o 

 3. ÐBOC = 100o,  ÐCOA = 80o 

 4. ÐBOC = 115o,  ÐCOA = 65o 

win
Oval

win
Oval

win
Oval



119. One of the adjacent angles of a parallelogram is 30o less than twice 
the other angle then the greatest angle is   

ÿ¿£ d�eÖ+ÔásÁ #áÔáTsÁTÒÛÈ+ jîTT¿£Ø �d�q� ¿ÃDeTT\ýË ÿ¿£{ì Âs+&�e<��¿ì 

Âs{ì¼+|�Ú¿£H�� 30
+
 ÔáÅ£�Øe nsTTq n+<�TýË �|<�Ý¿ÃDeTT $\Te 

 1. 140o 

 2. 130o 

 3. 120o 

 4. 110o 

 

120. The adjacent figure ABCD is a rectangle,  

AB = (x+3)cm, BC = (x–3)cm. If the 

perimeter is 44cm then the area of shaded 

region is (in cm2) 

ç|�¿£Ø|�³+ ABCD BsÁé#áÔáTsÁçd�+>± AB = (x+3) �d+.MT,  

BC = (x–3) �d+.MT eT]jáTT <�� #áT³T¼¿=\Ôá 44 �d+.MT nsTTq  

�w&� #ûjáT�&�q çbÍ+ÔáyîÕXæ\«+(�d+.MT
2
) 

 1. 32 

 2. 46 

 3. 56 

 4. 112 

 

  

win
Oval

win
Oval



121. The scale of a map is given as 1 : 50,000. Two cities are 6cm apart 
on the map.  Then the actual distance between them is (in km) 

ÿ¿£ |�³eTTjîTT¿£Ø �dØ\T 1 : 50,000 n� �eÇ�&�+~. |�³+ýË Âs+&�T  

|�³¼D²\ eT<ó�«<�ÖsÁ+ 6 �d+.MT �q�#Ã y�{ì eT<ó�«>·\ �È<�ÖsÁeTT  

(¿ì.MT.\ýË) 

 1. 4  

 2. 3  

 3. 2  

 4. 5  

 

122. Ascending order of the rational numbers 
1 3 1 2,  ,  ,  
3 10 2 5

 are  

1 3 1 2,  ,  ,  
3 10 2 5

 n¿£sÁD¡jáT d�+K«\qT �sÃV�²Dç¿£eT+ýË neTsÁÌ>± 

 1. 
1 1 3 2,  ,  ,  
3 2 10 5

 

 2. 
1 1 3 2,  ,  ,  
2 3 10 5

 

 3. 
3 2 1 1,  ,  ,  

10 5 2 3
 

 4. 
3 1 2 1,  ,  ,  

10 3 5 2
 

 

  

win
Oval

win
Oval



123. The following is one of the factors of 2 3 527a b a-  

~>·Te y��ýË ÿ¿£{ì 2 3 527a b a-  ¿ì ¿±sÁD²+¿£eT>·TqT. 

 1. ( )2 29 3a ab b- +  

 2. ( )3a b+  

 3. ( )3b a+  

 4. ( )2 29 3b ab a+ +  

 

124. Perimeter of equilateral triangle is 12 3  cm then the area is (in cm2)   

d�eTu²V�Q çÜuó�TÈ #áT³T¼¿=\Ôá 12 3  �d+.MT nsTTq <�� yîÕXæ\«+ 

(�d+.MT
2
) 

 1. 12 3   

 2. 13 3  

 3. 14 3  

 4. 15 3  

 

  

win
Oval

win
Oval



125. A man on his scooter at 30 kmph reaches his destination late by 6 
minutes.  If he had driven at 40 kmph he would have reached his 
destination 5 minutes earlier. Then the distance travelled by him is  
(in km) 

ÿ¿£ eT�w¾ Ôáq d�ÖØ³sÁT�|Õ 30 ¿ì.MT/>·+³ yû>·+ÔÃ ç|�jáÖDì+ºq nÔáqT  

Ôáq >·eT«kÍ�qeTTqT 6 �$TcÍ\T �\d�«+>± #ûsÁÔ�&�T. ¿±ú 40 ¿ì.MT/>·+³  

yû>·+ÔÃ ç|�jáÖDì+ºq 5 �$TcÍ\T eTT+<�T>± #ûsÁTqT, nsTTÔû nÔáqT  

ç|�jáÖDì+ºq <�ÖsÁ+ (¿ì.MT.\ýË) 

 1. 18  

 2. 20  

 3. 22  

 4. 24  

 

126. The mean of 8 observations is calculated as 38. But in doing so 24 is 
mistaken for 42. Then the actual mean of the data is  

8 |�]o\q\ n+¿£eT<ó�«eT+ ýÉ¿ìØ+#áT³ýË 42 Å£� �<�T\T 24 >± bõsÁbÍ³Tq

#ûjáT>± $\Te 38 >± eºÌq d�ÂsÕq n+¿£eT<ó�«eT+ 

 1. 39 

 2. 40.25 

 3. 41.5 

 4. 41.75 

  

win
Oval

win
Oval



127. The difference between compound and simple interest on ` 20,000 
for 2 years at 10% p.a is 

` 20,000  \�|Õ 2 d�+öö\Å£� 10% e&�¦¹s³T #=|�ðq njûT« #áç¿£e&�¦ eT]jáTT  

u²sÁTe&�¦\ eT<ó�« Ôû&� 

 1. ` 400 

 2. ` 200 

 3. ` 300 

 4. ` 250 

 

128. A man sold two wrist watches for ` 6000 each and gains 20% on one 
and 20% loss on the another.  Then his gain or loss percentage on the 
whole transaction is  

 1. Gain of 1% 

 2. Loss of 1% 

 3. Loss of 4% 

 4. Gain of 4% 

ÿ¿£ e«¿ìï #ûÜ>·&�jáÖs�\qT Âs+&�+{ì� ÿ¿=Ø¿£Ø{ì ` 6000 \Å£� neT�>± 

ÿ¿£<���|Õ 20% ý²uó�eTT, eTs=¿£<���|Õ 20% qw�¼eTT eºÌq yîTTÔáïeTT MT<�  

nÔáqT bõ+~q ý²uó�+ ýñ<� qw�¼+ XæÔá+ýË 

1. 1% ý²uó�eTT 

2. 1% qw�¼eTT 

3. 4% qw�¼eTT 

4. 4% ý²uó�eTT 

 

 

  

win
Oval

win
Oval

win
Oval



129. If the edge of the cube is tripled, then increase in total surface area is  

 1. 9 times 

 2. 6 times 

 3. 4 times 

 4. 2 times 

d�eT|��TqeTT jîTT¿£Ø ç|�Ü uó�TÈeTTqT eTÖ&�TÂs³T¢ #ûjáT>± <�� d�+|�PsÁ�Ôá\  

yîÕXæ\«+ýË e#áTÌ �|sÁT>·T<�\ 

1. 9 Âs³T¢ 

2. 6 Âs³T¢ 

3. 4 Âs³T¢ 

4. 2 Âs³T¢ 

 

130. If 2B91A7 is a 6-digit number exactly divisible by 9 then the least 
value of A+B is  

2B91A7  nqT ÿ¿£ �sÁ+Â¿\ d�+K« 9 #û �Xâôw�+>± uó²Ð+|��&�q, A+B 
jîTT¿£Ø ¿£�w�÷ $\Te 

 1. 6 

 2. 3 

 3. 4 

 4. 8 

  

win
Oval

win
Oval

win
Oval



131. If a > b and b > c then a > c – we conclude it by using this type of 
reasoning. 

1. Logical Reasoning  

2. Inductive Reasoning 

3. Deductive Reasoning 

4. Correlative Reasoning 

»»a > b eT]jáTT b > c nsTTq a > c n>·TqTµµ n� �s��]+#á&�+ � sÁ¿£yîT®q 

�V²ÔáTy�<�+. 
1. Ô�]Ø¿£ �V²ÔáTy�<�+ 

2. �>·eTq �V²ÔáTy�<�+ 

3. �>·eTq �V²ÔáTy�<�+ 

4. d�V�²d�+�+<ó� �V²ÔáTy�<�+ 

 

132. “Mathematics knowledge is needed to any person or any profession 
in the society” – comes under this value 

1. Disciplinary value  

2. Aesthetic value 

3. Utilitarian value 

4. Information value 

»»d�eÖÈ+ýË� @ e«¿ìïÂ¿ÕH�, @ e�ÜïÂ¿ÕH� >·DìÔáC²ãq+ ned�sÁeTTµµ ` nqTq~ 

� $<�«$\TeÅ£� #î+~q~. 
1. ç¿£eT¥¿£�D $\Te 

2. ¿£Þ²Ôá�¿£ $\Te 

3. ç|�jîÖÈq $\Te 

4. d�eÖ#�sÁ $\Te 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



133. The following specification comes under this objective  
 “The learner is able to recall the definition of like fractions” 

1. Skill  

2. Understanding  

3. Application  

4. Knowledge 

»»nuó²«d�Å£�&�T d�C²Ü _óH��\ �sÁÇ#áqeTTqT Èã|¾ï¿ì Ôî#áTÌÅ£�+{²&�Tµµ nqTq~ �

ý¿£�«eTTqÅ£� #î+~q d�ÎwÓ¼¿£sÁDeTT 
1. HîÕ|�ÚD«eTT 

2. ne>±V�²q 

3. $�jîÖ>·eTT 

4. C²ãqeTT 

 

134. In this teaching method one has to proceed from “General to 
Particular aspects” and “Abstract to Concrete” is  

1. Inductive Method 

2. Analytic Method 

3. Deductive Method 

4. Synthetic Method 

»kÍ<ó�sÁD n+Xø+ qT+º ç|�Ôû«¿£ n+XøeTTqÅ£�µ eT]jáTT »neTÖsÁï $w�jáÖ\ 

qT+º eTÖsÁï $w�jáÖ\Å£�µ #î+~q uË<ó�H�|�<�ÆÜ 
1. �>·eTq |�<�ÆÜ 

2. $Xâ¢w�D |�<�ÆÜ 

3. �>·eTq |�<�ÆÜ 

4. d�+Xâ¢w�D |�<�ÆÜ 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



135. One of the following is a demerit of ‘Analytic Method’ 

1. Logical Method  

2. Strengthens the urge to discover facts 

3. Each step has its reason 

4. A lengthy method 

ç¿ì+~ y��ýË »$Xâ¢w�D |�<�ÆÜµ q+<�* ÿ¿£ <Ãw�eTT. 
1. Ô�]Ø¿£ |�<�ÆÜ 

2. ¿=Ôáï $w�jáÖ\qT ¿£qT¿ÃØy�\Hû ¿Ã]¿£qT �|+bõ+~+#áTqT 

3. ç|�Ü kþbÍqeTT ¿±sÁDuó�ÖÔáyîT® �+³T+~ 

4. d�TBsÁéyîT®q |�<�ÆÜ 

 

136. ‘Area and perimeter of Rectangle” can be taught easily by using the 
following material of Maths (O.B.B. Kit) Kit  

1. Abacus  

2. Cubic rods 

3. Domino Cards 

4. Napier Strips 

>·DìÔá �|{ì¿£ (O.B.B. Kit) q+<�* � kÍeTçÐ� �|�jîÖÐ+º »»BsÁé#áÔáTsÁçd�  

yîÕXæ\«eTT, #áT³T¼¿=\Ôáµµ \qT d�T\uó�+>± uË~ó+#áe#áTÌ. 
1. |�Pd�\ #áç³+ 

2. |��TH�¿±sÁ|�Ú ¿£&�¦\T 

3. &�$THÃ ¿±sÁT¦\T 

4. Hû|¾jáTsY |�{¡¼\T 

  

win
Oval

win
Oval

win
Oval

win
Oval



137. “It is necessary to determine with the greatest accuracy which of the 
constituents of instruction fits for each age of child” – This 
definition for curriculum was given by 

1. Pestalozi  

2. P. Samuel 

3. Cunningham 

4. Alberty 

»»$<�«sÁT�\ ejáTd�TàÅ£� ÔáÐq³T¢>± @@ y�«d�Å£�ï\qT n+~+#�ýË ¿£ºÌÔá+>±  

�sÁ�sTT+#á&�+ ned�sÁ+µµ ` n� ¿£]Å£�\+qT �sÁÇº+ºqy�sÁT 
1. �|kÍ¼\J 

2. |¾. XæeTÖ«ýÙ 

3. ¿£��+>´V�²Ã+ 

4. �ýÙ� ¼̄ 

 

138. The least number of points have been allotted to this criteria in 
assessing the Maths text book by using Hunter’s score card 

1. Book get up & cost 

2. Subject matter 

3. Style of language 

4. Useful to the teacher 

V�²+³sYà >·Dq ¿±sÁT¦qT �|�jîÖÐ+º >·DìÔá bÍsÄÁ«|�Úd�ï¿£eTTqT eT~+|�Ú 

#ûjáTTq|�Ú&�T ÔáÅ£�Øe bÍsTT+³T¢ ¹¿{²sTT+#á�&�q ç|�eÖDeTT (criteria) 
1. |�Úd�ï¿£+ jîTT¿£Ø uó�Ü¿£sÁÖ|�eTT eT]jáTT <ó�sÁ 

2. $w�jáÖ�¿ì  

3. uó²cÍXèÕ*¿ì 

4. �bÍ<ó�«jáTT\Å£� �|�jîÖ>·|�&û $<ó�eTT 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



139. The success of homework in Mathematics lies in 

1. checking and correcting regularly   

2. proper checking and correcting regularly and giving feedback 

3. should not be according to the classroom teaching 

4. should always be too little and too simple 

>·DìÔá+ q+<�T �+{ì|�� jîTT¿£Ø $ÈjáT+ B�ýË �$T&� �+³T+~. 
1. ç¿£eT+>± #áÖ&�&�+, d�]~<�Ý&�+ 

2. ç¿£eT+>± #áÖ&�&�+, d�]~<�Ý&�+, |�]|�Úw¾¼�eÇ&�+ 

3. ÔásÁ>·Ü uË<ó�qÅ£� d�+�+<ó�+ýñ� $w�jáÖ\�|Õ �eÇ&�+ 

4. m\¢|�ð&�Ö #�ý² ÔáÅ£�Øe yîTTÔáï+ýË Ôû*Â¿Õq~ �eÇ&�+ 

 

140. The Academic standard to be tested through the following test item. 

 “Write 4,00,000 + 20,000 + 500 + 30 + 6 in short form”  

1. Reasoning – Proof  

2. Communication 

3. Connection 

4. Representation – Visualisation  

»»4,00,000 G 20,000 G 500 G 30 G 6 qT d�+¿ì�|�ïsÁÖ|�+ýË s�jáT+&�µµ

` B� <�Çs� |�̄ ¿ì�+#á>·\ $<�«ç|�eÖDeTT 
1. ¿±sÁD²\T #î|�Î&�+ ` �sÁÖ|�D\T #ûjáT&�+ 

2. e«¿£ï|�sÁ#á&�eTT 

3. nqTd�+<ó�qeTT 

4. çbÍÜ�<ó�«|�sÁ#á&�eTT ` <��o«¿£sÁDeTT 

 

  

win
Oval

win
Oval

win
Oval

win
Oval



141. The slope of V-I graph represents (Take potential difference (V) on 
X-axis, current (I) on Y-axis)   

1. Resistance 

2. Reciprocal of resistance 

3. Specific resistance 

4. Reciprocal of specific resistance 

V-I  ç>±|�t jîTT¿£Ø y�\T B�� Ôî*jáTCñjáTTqT. (bõfÉ�üjáTýÙ uóñ<�+ (V)   
X`n¿£�+�|Õ, $<�T«ÔY ç|�y�V�²+ (I)  qT Y`n¿£�+�|Õ rd�T¿=qTeTT) 

1. �sÃ<ó�+ 

2. �sÃ<ó�+ jîTT¿£Ø eÚ«çÔáØeT+ 

3. $¥w�¼ �sÃ<ó�+ 

4. $¥w�¼ �sÃ<ó�+ jîTT¿£Ø eÚ«çÔáØeT+ 

 

142. A body is starting from rest moves with uniform acceleration ‘a’, 
then the distance travelled by the body in the third second is   

�XøÌ\d¾�Ü qT+&� �jáT\T<û]q ÿ¿£ ed�TïeÚ d�eTÔáÇsÁD+ ‘a’  ÔÃ 

ç|�jáÖDìd�Tï+~. nsTTq � ed�TïeÚ 3e �d¿£qTýË ç|�jáÖDì+ºq <�ÖsÁ+ 

1. 
2
a

 

2. 
3
2
a

 

3. 
5
2
a

 

4. 
7
2
a

 

 

win
Oval

win
Oval

win
Oval



143. If an incident ray makes an angle 30o with the surface of plane 
mirror, then the angle between incident ray and reflected ray is   

|�Ôáq¿ìsÁD+ d�eTÔá\ <�sÁÎD Ôá\+ÔÃ 30
+
 \ ¿ÃD+ #ûd�Tïq�|�ð&�T, |�Ôáq  

¿ìsÁD²�¿ì, |�s�esÁïq ¿ìsÁD²�¿ì eT<ó�«>·\ ¿ÃD+ 

1. 30o 

2. 60o 

3. 90o 

4. 120o 

 

144. Unit of magnetic flux density in S.I system  

1. Weber-meter 

2. Weber
meter

 

3. Weber-meter2 

4. 2
Weber
meter  

njáTkÍØ+Ôá n_óy�V�² kÍ+ç<�ÔáÅ£� S.I  ç|�eÖD+ 

1. yî�sỲ MT³sY 

2. 
y�î sY

MT³sY
 

3. yî�sỲ MT³sY
2
 

4. 
2

y�î sY

MT³sY  
 

 
 

 

win
Oval

win
Oval

win
Oval



145. SONAR stands for   

1. Sound Navigation and Ranging  

2. Sound Notation and Reading  

3. Sound Notation and Ranging 

4. Sound Navigation and Reading 

SONAR nq>± 
1. kå+&� H�$¹>w�H� n+&� ¹s+�+>´ 

2. kå+&� H=fñw�H� n+&� ¯&�+>´ 

3. kå+&� H=fñw�H� n+&� ¹s+�+>´ 

4. kå+&� H�$¹>w�H� n+&� ¯&�+>´ 

 

146. Formulae of Calcium Hydroxide and Zinc Phosphate are Ca(OH)2, 
Zn3(PO4)2 respectively.  Then the formula of Calcium Phosphate is  

¿±*üjáT+ �VÕ²ç&�Â¿Õà&� eT]jáTT �+¿ù b�Í�dÎÛ{Ù\ kÍ+¹¿Ü¿±\T esÁTd�>±  
Ca(OH)2, Zn3(PO4)2 nsTTq ¿±*üjáT+ b�Í�dÎÛ{Ù jîTT¿£Ø kÍ+¹¿Ü¿£+ 

1. Ca3(PO4)2 

2. Ca(PO4)2 

3. Ca2(PO4)3 

4. Ca2PO4 

  

win
Oval

win
Oval

win
Oval



147. The bite / sting of this leaves a basic solution   

1. ant 

2. honeybee 

3. wasp 

4. hair of leaf of nettle plant 

�~ Å£�{ì¼q|�ð&�T / >·TºÌq|�ð&�T ¿�±sÁç<�eD²�� e<�T\TÔáT+~ 
1. NeT 

2. ÔûHî{¡>·  

3. ¿£+~¯>·  

4. <�Ö\>=+&� yîTT¿£Ø �Å£��|Õ �q� eTT+&�T¢   

 

148. A black circular ring is formed on a glass slide when it is introduced 
in the yellow zone of the candle flame.  This indicates… 

1. The complete combustion of fuel. 

2. Incomplete combustion of fuel. 

3. Lowest temperature in the zone. 

4. A non-luminous zone. 

ç¿=y=ÇÜï eT+³ jîTT¿£Ø |�d�T|�Ú çbÍ+Ôá+ýË ÿ¿£ >±E �d¢í&�qT �+ºÔû <���|Õ  

q\T|�ÚsÁ+>·T e\jáT+ @sÁÎ&�TqT... �~ B�� Ôî*jáTCñjáTTqT. 
1. �+<ó�qeTT jîTT¿£Ø d�+|�PsÁ� <�V�²q+. 

2. �+<ó�qeTT jîTT¿£Ø nd�+|�PsÁ� <�V�²q+. 

3. nÔá«\Î �cþ�ç>·Ôá >·\ çbÍ+ÔáeTT. 

4. ç|�¿±Xøe+Ôá+>± ýñ� çbÍ+ÔáeTT. 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



149. An example for a colloid in which both dispersion medium and 
dispersed phase are in liquid state   

1. Jelly 

2. Milk of Magnesia 

3. Shaving Cream 

4. Face Cream 

$¹¿�|�D jáÖq¿£+, $¹¿�|�D çbÍed��\T Âs+&�Ö ç<�y�\T>± �q� ¿=ý²sTT&�  

sÁ¿±�¿ì �<�V�²sÁD 
1. CÉ©¢ 

2. $TýÙØ �|�t yîT^�w¾jáÖ 

3. >·&�¦+ ^d�TÅ£�Hû+<�TÅ£� y�&û ç¿¡eTT 

4. eTTU²�¿ì s�d�TÅ£�Hû ç¿¡y�T 

 

150. One of the following is a thermal decomposition reaction 

 ç¿ì+~ y��ýË �w��$jîÖ>· #ásÁ« 

1. 2 Pb (NO3)2 → 2PbO + 4 NO2 + O2 

2. 2 H2O → 2H2 + O2 

3. CaO + H2O → Ca(OH)2 

4. 2 Ag Br → 2Ag + Br2 
  

win
Oval

win
Oval

win
Oval



151. The nerves associated to form auditory nerve are,   

 1. Trochlear & Olfactory 

 2. Trigeminal & Abducens 

 3. Vestibular & Cochlear 

 4. Cochlear & Facial 

 çXøeD H�&� @sÁÎ&�T³ýË d�+�+<ó�+ >·\ H�&�T\T 

 1. ç{Ë¿ì¢jáTsY Ê �ýÙb�Í¿£¼̄  

 2. �fÉ®CÉ$TqýÙ Ê n�¦T�dH�à 

 3. yîd¾¼�T«ý²sY Ê ¿±¿ì¢jáÖsY 

 4. ¿±¿ì¢jáÖsY Ê �|�d¾jáTýÙ 

 

152. “Auxins” are not associated with 

 1. Elongation of stem 

 2. Stimulation of flowering 

 3. Differentiation of shoot 

 4. Differentiation of root 

 »»�¿ìàH�µµ \Å£� B�ÔÃ d�+�+<ó�+ �+&�<�T. 

 1. ¿±+&�+ bõ&�ee&�+ 

 2. |�Úw¾Î+#á&��� ç�|¹s|¾+#á&�+ 

 3. ¿±+&�+ $uóñ<�q+ 

 4. yûsÁT $uóñ<�q+ 

  

win
Oval

win
Oval

win
Oval

win
Oval



153. The persistent chemical substances that are not readily decomposed 
in the environment are 

 1. Nitrates, Phosphates 

 2. Bicarbonates, DDT 

 3. BHC, DDT 

 4. BHC, Sulphates 

 |�s�«esÁD+ýË yî+³Hû $ºÌÛq�+ ¿±� sÁkÍjáTH�\T 

 1. HîÕçfñ³T¢, b�Í�dÎÛ³T¢ 

 2. uÉÕ¿±sÃÒHû³T¢, DDT 

 3. BHC, DDT 

 4. BHC, d�ýñÎÛ³T¢ 

 

154. The oceanic zone in which red and brown kelps are found   

 1. Euphotic zone 

 2. Abyssal zone 

 3. Bathyal zone 

 4. Littoral zone 

 msÁT|�Ú eT]jáTT >Ã<ó�TeT esÁ�|�Ú ¿£\T|�Ú yîTT¿£Ø\T ¿£�|¾+#û d�eTTç<�|�Ú eT+&�\+ 

 1. jáTÖb�þ{ì¿ù eT+&�\+ 

 2. nuÉÕd�ýÙ eT+&�\+ 

 3. uÉ~¸jáTýÙ eT+&�\+ 

 4. *{Ë¼sÁýÙ eT+&�\+ 

 

 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



155. The creatures which have highly developed senses of hearing and 
smell are 

 1. Nocturnals 

 2. Diurnals 

 3. Crepusculars 

 4. Side winders 

 $q&��¿ì, y�d�q >·T]ï+#á&��¿ì C²ãHû+ç~jáÖ\T u²>± n_óe�~Ý #î+~q JeÚ\T 

 1. �Xæ#ásÁT\T 

 2. ~y�#ásÁT\T 

 3. ç¿ì|�dtØ\sYà 

 4. �dÕ&� yîÕ+&�sYà 

156. Fill the table with correct set of A and B 

Type of Tissue Functions 
Meristematic tissue Continuously divide 

A Stores food 
Dermal tissue B 

  1. A. Parenchyma B. Transpiration 
 2. A. Dermal tissue B. Physical support 
 3. A. Xylem  B. Photosynthesis 
 4. A. Phloem  B. Transportation 

 ¿ì+~ |�{ì¼¿£qT d�ÂsÕq  A, B ÈÔáÔÃ |�P]ï#ûjáT+&�. 

¿£DC²\+ $<ó�T\T 

$uó²È« ¿£D²\+ m\¢|�ÚÎ&�Ö $uó�Èq #î+<�T³ 

A �V�äsÁ+ �\e#ûjáTT³ 
ÔáÇ#á ¿£DC²\+ B 

 1. A. eT�<�T¿£DC²\+ ` B. uó²cþÎÔûà¿£+ 

 2. A. ÔáÇ#á¿£DC²\+ ` B. jáÖ+çÜ¿£�\+ 

 3. A. <�sÁT¿£DC²\+ ` B. ¿ìsÁD Èq« d�+jîÖ>·ç¿ìjáT 

 4. A. bþw�¿£¿£DC²\+ ` B. sÁy�D² 

win
Oval

win
Oval

win
Oval

win
Oval



157. The chemicals that are used to extract “cellulose” from pulp are 

 1. Phosphorus 

 2. Sulphates 

 3. Nitrates 

 4. Potassium 

 »»�d\T«ýËCÙµµqT ÔájáÖsÁT #ûjáTT³Å£� ¿£\|� >·TËÅ£� ¿£*�| sÁkÍjáTH�\T 

 1. uó²d�ÇsÁeTT 

 2. d�ýñÎÛ{Ù\T 

 3. HîÕçfñ{Ù\T 

 4. bõ{²w¾jáT+ 

 

158. Specific character of sunflower is  

 1. Having florets 

 2. Only pistils in the bunch 

 3. Solitary flower 

 4. Bell shaped thalamus 

 bõ<�TÝÜsÁT>·T&�T |�Úw�Î+ jîTT¿£Ø ç|�Ôû«¿£ \¿£�D+ 

 1. |�Úw�Î¿±\T ¿£*Ð �+&�³+ 

 2. |�Úw�Î >·T#áÌ+ýË n+&�XøjáÖ\T eÖçÔáyûT �+&�³+ 

 3. @¿±+Ôá |�Úw�Î+ 

 4. >·+{²¿±sÁ|�Ú |�ÚcÍÎd�qeTT 

  

win
Oval

win
Oval

win
Oval

win
Oval



159. The ecosystem that derives nourishment from terrestrial fresh water 
and tidal salt water is located at  

 1. Antharvedi 

 2. Coringa 

 3. Machilipatnam 

 4. Cuttack 

 ÔáqÅ£� ¿±e\d¾q bþw�¿±\qT uó�Ö$T �|ÕbõsÁ\ýË qTq� eT+ºú{ì qT+&�,  

d�eTTç<�|�Ú n\\ �|�ðú{ì qT+&� ç>·V¾²+#û �esÁD e«ed�� >·\ çbÍ+Ôá+ 

 1. n+Ôá¹sÇ~ 

 2. ¿Ã]+>· 

 3. eTº©|�³�+ 

 4. ¿£³¿ù 

 

160. The organs that show peristaltic movements in human body   

 1. Duodenum, urethra 

 2. Oesophagus, stomach 

 3. Small intestine, villus in small intestine 

 4. Aorta, ureter 

 eÖqe Xø̄ sÁ+ýË �|]kÍ¼*¼¿ù #á\H��� ç|�<�]ô+#û nejáTy�\T. 

 1. �+çÔáeTÖ\eTT, ç|��d¿£eTT 

 2. �V�äsÁ y�V¾²¿£, Js��XøjáT+ 

 3. ºq� ç�|>·T, �+çÔá#áÖw�Å£eTT 

 4. eTV�ä <ó�eT�, eTÖçÔá H�ÞøeTT 

 

  

win
Oval

win
Oval

win
Oval

win
Oval



161. “Science predicts probabilities” 

 This can be understood as 

 1. Scientific laws lead to correct guess of future development 

 2. Science tells about probabilities but not certainities 
 3. Scientific laws are useful to future development 
 4. Science proves the probabilities 

 »»$C²ãqXæg+ d�+uó²e«Ôá\qT çbÍ>·T¿¡ï¿£sÁD #ûd�Tï+~µµ. 

 B�� �ý² nsÁ�+ #ûd�T¿Ãe#áTÌ   

 1. XæçdÓïjáT �jáTeÖ\T uó�$w�«ÔY n_óe�~Æ� }V¾²+#á&��¿ì <�]rkÍïsTT. 

 2. $C²ãqXæg+ Ôá<ó�«\qT >·T]+º¿±¿£ d�+uó²e«Ôá\qT >·T]+º  

Ôî\T|�ÚÔáT+~ 

 3. Xæg|��*Ô�\T uó�$w�«ÔY n_óe�~Æ¿ì �|�jîÖ>·|�&�Ô�sTT. 

 4. $C²ãqXæg+ d�+uó²e«Ôá\qT �sÁÖ|¾d�Tï+~. 

162. “The students visit gardens around the school surroundings and 
acquire the knowledge of various plants.” 

 This can be mentioned as the use of one of the following sources of 
learning experience 

 1. Technical resource 
 2. Local resource 
 3. Intellectual resource 
 4. Human resource 
 »»$<�«sÁT�\T bÍsÄÁXæ\ #áT³T¼ç|�¿£Ø\ �q� ÔÃ³\T d�+<�]ô+º $$<ó� yîTT¿£Ø\  

>·T]+ºq C²ãH��� bõ+<�TÔ�sÁT.µµ 

 B�� ç¿ì+<� �eÇ�&�q nuó�«d�H�qTuó�y�\ýË ÿ¿£<��� $�jîÖÐ+#á&�+>±  

�|s=Øqe#áTÌ. 

 1. kÍ+¹¿Ü¿£ eqsÁT 

 2. kÍ��¿£ eqsÁT 

 3. u�~Æ¿£ eqsÁT 

 4. eÖqe eqsÁT 

win
Oval

win
Oval

win
Oval

win
Oval



163. The approach of curriculum construction where the content related 
to a topic is developed in graded manner at different levels 

 1. topic approach 

 2. concentric approach 

 3. process approach 

 4. concept approach 

 ÿ¿£ o]ü¿£Å£� d�+�+~ó+ºq $w�jáÖ�� n+#î\+#î\T>± $$<ó� kÍ�sTT\ýË  

n_óe�~Ý #î+~+#û bÍsÄÁ«ç|�D²[¿± �s��D �|�>·eTeTT   

 1. o]ü¿± �|�>·eTeTT 

 2. @¿£¹¿+ç<�¿£ �|�>·eTeTT 

 3. ç|�ç¿ìjáÖ �|�>·eTeTT 

 4. uó²eq �|�>·eTeTT 

 

164. Trace out the erroneous instruction related to rules of science 
laboratory 

 1. Don’t lift the reagent bottles with lid 

 2. Don’t touch the chemicals with hands 

 3. Don’t wear shoes while doing experiments 

 4. Maintain silence in the laboratory 

 ç|�jîÖ>·Xæ\ �jáTeÖ\Å£� d�+�+~ó+º Ôá|�ð&�T d�Ö#áqqT >·T]ï+#áTeTT   

 1. ]jûTÈ+{Ù u²{ìýÙàqT eTÖÔá|�³T¼¿=� ýñ|�s�<�T 

 2. sÁkÍjáTH�\qT #ûÜÔÃ eTT³T¼¿Ãs�<�T 

 3. ç|�jîÖ>±\T #û�d³|�ð&�T �Ö³T¢ yûd�T¿ÃÅ£L&�<�T 

 4. ç|�jîÖ>·Xæ\ýË �Xøôu²Ý�� bÍ{ì+#�* 

 

 

win
Oval

win
Oval

win
Oval

win
Oval



165. One of the following process helps mostly in identifying the core 
concepts of the lesson choosen.  

 1. Teachers interest and attitude towards teaching 

 2. Testing the previous knowledge of the students 

 3. Organization of content through content analysis 

 4. Knowing how to make use of senses basing on the available 
teaching materials. 

 m+#áT¿=q� bÍsÄ�«+Xø+ýË� ç|�<ó�q uó²eq\qT >·T]ï+#á{²�¿ì ç¿ì+~  

ç|�ç¿ìjáT mÅ£�Øe>± d�V�äjáT+ #ûd�Tï+~.  

 1. uË<ó�q|�³¢ �bÍ<ó�«jáTT� �d�¿ìï eT]jáTT yîÕKsÁT\T 

 2. $<�«sÁT�\ |�PsÁÇC²ãH��� |�̄ ¿ì�+#á³+ 

 3. $w�jáT $Xâ¢w�D <�Çs� $w�jáÖ�� e«edÓ�¿£]+#á³+ 

 4. \uó�«eTjûT« uË<ó�H�kÍeTçÐqqTd�]+º C²ãHû+ç~jáÖ\qT mý²  

$�jîÖÐ+#�ýË Ôî\Td�T¿Ãe³+. 

 

166. One of the following science club is related to special interest club  

 1. Nature study club 

 2. Chemistry club 

 3. General Science club 

 4. Biology club 

 yîÕC²ã�¿£ d�+|��Ö\Å£� d�+�+~ó+º ç¿ì+~ y��ýË ÿ¿£{ì ç|�Ôû«¿£ n_ósÁTº  

d�+|��Ö�¿ì d�+�+~ó+ºq~.   

 1. Hû#ásY d�¼&� d�+|��T+ 

 2. sÁkÍjáTqXæg d�+|��T+ 

 3. kÍeÖq«Xæg d�+|��T+ 

 4. JeXæg d�+|��T+ 

win
Oval

win
Oval

win
Oval

win
Oval



167. “Pupils are able to connect various issues and situations logically 
and respond to environmental protection.” 

 This learning indicator belongs to one of the following academic 
standards 

 1. Conceptual understanding 

 2. Asking questions and making hypotheses 

 3. Experimentation and field investigation 

 4. Information skills and projects 

 »»$<�«sÁT�\T $$<ó� $w�jáÖ\Å£�, d�+|��T³q\Å£� Ô�]Ø¿£+>± nqTd�+<ó�q+  

#ûjáT>·*Ð, |�]d�s�\ |�]sÁ¿£�DÅ£� d�Î+~+#á>·\>·³+µµ ` � nuó�«d�q d�Öº¿£  

ç¿ì+~ $<�«ç|�eÖD²\ýË ÿ¿£<��¿ì d�+�+~ó+º+~. 

 1. $w�jáÖe>±V�²q 

 2. ç|�¥�+#á³+, |�]¿£\Îq\T #ûjáT³+ 

 3. ç|�jîÖ>±\T, ¹¿�çÔá|�]o\q\T 

 4. d�eÖ#�sÁ �d¿£sÁD HîÕ|�ÚD²«\T, çbÍCÉÅ£�¼ |�qT\T 

168. One of the following is not necessary for the success of 
demonstration in the classroom 

 1. The teacher should be well-versed in handling the material 
 2. The teacher should have clear idea about the purpose of 

demonstration 
 3. The students should be well-versed in handling the material 
 4. There should be active participation of students and teacher in 

the demonstration 

 ç¿ì+~ y��ýË ÿ¿£{ì ç|�<�sÁôq |��\e+ÔáeT>·T³Å£� ned�sÁ+ ýñ�~ 

 1. �bÍ<ó�«jáTT&�T |�]¿£s�\qT y�&�³+ u²>± Ôî*d¾qy�&îÕ �+&�* 

 2. ç|�<�sÁôq jîTT¿£Ø ç|�jîÖÈq+ >·T]+º �bÍ<ó�«jáTT�¿ì d�Îw�¼Ôá �+&�* 

 3. $<�«sÁT�\T |�]¿£s�\qT y�&�³+ u²>± Ôî*d¾qy�ÂsÕ �+&�* 

 4. �bÍ<ó�«jáTT&�T eT]jáTT $<�«sÁT�\T ç|�<�sÁôqýË #áTsÁTÅ£�>±  

bÍý¤ZHû³T¢ ç|�<�sÁôq �+&�* 

win
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win
Oval

win
Oval

win
Oval



169. “A doctor visits a school and explains about healthy habits, about the 
precautions to avoid contaminating diseases” 

 This can be understood as using one of the following resources of 
learning experiences. 

 1. Natural resources 

 2. Intellectual resources 

 3. Biological resources 

 4. Physical resources 

 »»ÿ¿£ yîÕ<�T«&�T bÍsÄÁXæ\qT d�+<�]ô+º, �sÃ>·«|�Ú n\y�³T¢, n+³Ty�«<ó�T\  

�y�sÁDÅ£� rd�T¿Ãe\d¾q C²ç>·Ôáï\T $e]+#á³+ ÈsÁT>·TÔáT+~.µµ   

 B��`nuó�«d�H�qTuó�y�\ eqsÁT\ $�jîÖ>·+ýË ç¿ì+<��eÇ�&�q eqsÁT\ýË  

ÿ¿£{ì>± nsÁ�+#ûd�T¿Ãe#áTÌ 

 1. d�V�²È eqsÁT\T 

 2. u�~Æ¿£ eqsÁT\T 

 3. CÉÕ$¿£ eqsÁT\T 

 4. uó�Ü¿£ eqsÁT\T 

170. Quick and accurate measurement can be done through one of the 
following type of tests 

 1. Aptitude tests 
 2. Oral tests 
 3. Essay type tests 
 4. Objective type tests 

 � |�̄ ¿£�\ sÁ¿±\ýË ÿ¿£ <��� ¿£ºÌÛÔá+>±qT eT]jáTT yû>·+>±qÖ >·Dq  

#ûjáTe#áTÌ  

 1. d�V�²È kÍeTsÁ�« |�̄ ¿£�\T 

 2. eTòÏ¿£ |�̄ ¿£�\T 

 3. y�«d�sÁÖ|� |�̄ ¿£�\T 

 4. \¿�±«Ôá�¿£ |�̄ ¿£�\T 

win
Oval

win
Oval

win
Oval

win
Oval



171. One of the raw materials used in making of glass and ceramic ware 

 1. Feldspar 

 2. Barytes 

 3. Chrome 

 4. Bauxite 

 >±E, �ds�$T¿ù ed�TïeÚ\T ÔájáÖsÁT#ûjáTT³Å£� y�&�T eTT&� |�<�sÁ�eTT 

 1. �|�ýÙ¦kÍÎsY 

 2. uÉÂsÕ{¡dt 

 3. ç¿Ã$TjáT+ 

 4. u²Â¿Õà{Ù 

 

172. “Brahmo Samaj” was founded in Andhra Pradesh by ….  

 1. Raja Rammohan Ray 

 2. Annie Besant 

 3. Kandukuri Veeresalingam 

 4. Eswara Chandra Vidyasagar 

 �+ç<ó�ç|�<ûXÙýË ç�V�²�d�eÖÈeTT kÍ�|¾+ºqy�sÁT 

 1. s�C² s�yîÖ�V�²H�s�jYT 

 2. nú_�d+{Ù 

 3. ¿£+<�TÅ£L] M¹sXø*+>·+ 

 4. �XøÇsÁ #á+ç<� $<�«kÍ>·sY 

  

win
Oval

win
Oval

win
Oval

win
Oval



173. The Madras Estate bill was came into force on   

 eTç<�d�T m�d¼³T _\T¢ neT\TýË¿ì eºÌq d�+eÔáàsÁ+ 

 1. 1949 

 2. 1952 

 3. 1948 

 4. 1950 

 

174. The news journal established by Mahatma Gandhiji in Gujarati 
Language was 

 1. Young India 

 2. Nava Jeevan 

 3. Amrit Bazar 

 4. Kesari 

 eTV�äÔ��>±+BóJ #û >·TÈs�ÔY uó²w�ýË kÍ�|¾+#á�&�q |�çÜ¿£ 

 1. jáT+>´ �+&�jáÖ 

 2. qeJeH� 

 3. neT�Ôá�C²sY 

 4. ¹¿d�] 

  

win
Oval

win
Oval

win
Oval



175. The Krishna river rises from the Western Ghats from a place called  

 1. Sihawa 

 2. Brahmagiri mountain 

 3. Mahabaleswar 

 4. Amar Kantak 

 ¿£�cÍ�q~ |�&�eT{ì ¿£qTeT\ýË �¿£Ø&� |�Ú{ì¼+~. 

 1. d¾V�äy� 

 2. ç�V�²�Ð] |�sÁÇÔáeTT 

 3. eTV�ä�ýñXøÇsÁeTT 

 4. neTsY ¿£+³¿ù 

 

176. Naidu Palli, an important rock art  site in Andhra Pradesh is located 
in this district  

 1. Guntur 

 2. Krishna 

 3. Prakasam 

 4. East Godavari 

 �+ç<ó�ç|�<ûXÙýË� eTTK«yîT®q s�Ü ºçÔá ¿£Þ²kÍ�esÁ+ H�jáTT&�T|�*¢ � �ý²¢ýË  

¿£\<�T. 

 1. >·T+³ÖsÁT 

 2. ¿£�cÍ� 

 3. ç|�¿±Xø+ 

 4. ÔáÖsÁTÎ>Ã<�e] 

  

win
Oval

win
Oval

win
Oval

win
Oval



177. All members of a tribe consider each other to be their …. 

 1. Neighbours 

 2. Enemies 

 3. Opponents 

 4. Relatives 

 Ð]Èq Ôî>·\ýË� d�uó�T«\T ÿ¿£]¿ì ÿ¿£sÁT �ý² uó²$kÍïsÁT.  

 1. �sÁT>·T bõsÁT>·T y�]>± 

 2. XøçÔáTeÚ\T>± 

 3. ç|�Ôá«sÁT�\T>± 

 4. �+<ó�TeÚ\T>± 

 

178. Recently scientists discovered large volumes of Methane gas under 
the frozen Tundras of the far Northern parts of  

 1. Russia 

 2. Antarctica 

 3. America 

 4. India 

 �{¡e\ ¿±\+ýË Xæçd�ïEã\T �|<�Ý yîTTÔáï+ýË $T<û̧H� y�jáTTeÚ � çbÍ+Ôá+ýË 

�ÔáïsÁ n¿�±+Xæ\ e<�Ý ³+ç&�\ ¿ì+<� �q�<�� ¿£qT>=H��sÁT. 

 1. sÁcÍ« 

 2. n+{²]Ø{ì¿± 

 3. nyîT]¿± 

 4. �+&�jáÖ 

 
  

win
Oval

win
Oval

win
Oval

win
Oval



179. This river rises from the snout of the chemaungdung glacier  of the 
Kailas range near Manasa Sarovar 

 1. Indus 

 2. Bhagirathi 

 3. Brahmaputra 

 4. Alakananda 

 eÖqd� d�sÃesÁ+ýË Â¿Õý²d� |�sÁÇÔ�\ýË� #îeT jáTT+>´ &�+>´ V¾²eÖúq<�+  

e<�Ý |�Ú{ì¼q q~. 

 1. d¾+<ó��q~ 

 2. uó�̂ sÁ~ó 

 3. ç�V�²�|�ÚçÔá 

 4. n\¿£q+<� 

 

180. Large scale sugarcane cultivation is started in Maharashtra after this 
dam was built 

 1. Bhakranangal 

 2. Nagarjuna Sagar 

 3. Indira Sagar 

 4. Koina 

 � �q¿£³¼ ¿£{ì¼q ÔásÁTy�Ôá eTV�äs�çw�¼ýË �|<�Ý mÔáTïq #îsÁ¿£T kÍ>·T#ûjáT&�+  

yîTT<�\T�|{²¼sÁT. 

 1. uó²ç¿±q+>·ýÙ 

 2. H�>±sÁT¨qkÍ>·sY 

 3. �+~s�kÍ>·sY 

 4. ¿=sTTH� 

  

win
Oval

win
Oval

win
Oval

win
Oval



181. In combined Andhra Pradesh State arrack was officially banned in 
this year 

 �eT�&� �+ç<ó�ç|�<ûXÙ s�çw�¼+ýË n~ó¿±]¿£+>± kÍs�qT ��w~ó+ºq d�+eÔáàsÁ+ 

 1. 1995 

 2. 1993 

 3. 1992 

 4. 1996 

 

182. In 1976 to protect the cashew crop from pest, the government carried 
out treatment of 15,000 acres of land with Endo Sulfan sprayed by 
helicopter in this State 

 1. Andhra Pradesh 

 2. Tamil Nadu 

 3. Kerala 

 4. Karnataka 

 1976 e d�+eÔáàsÁ+ýË J&�eÖ$T&� ÔÃ³\qT |�ÚsÁT>·T qT+º sÁ¿ì�+#á&��¿ì  

15000 m¿£s�ýË¢ m+&Ãd�ý²ÎÛH� |�ÚsÁT>·T eT+<�TqT �V²*¿±|�¼sÁ¢ÔÃ |¾º¿±]  

#ûsTT+ºq s�çw�¼+. 

 1. �+ç<ó�ç|�<ûXÙ 

 2. Ôá$TÞøH�&�T 

 3. ¹¿sÁÞø 

 4. ¿£s��³¿£ 

  

win
Oval

win
Oval

win
Oval



183. The right to vote was given to all adult women in England in this 
year 

 �+>±¢+&�TýË ejîÖÈqTýÉÕq eTV¾²Þø\+<�]¿¡ z³TV�²Å£�Ø \_ó+ºq d�+eÔáàsÁ+ 

 1. 1918 

 2. 1928 

 3. 1917 

 4. 1920 

 

184. Goro hills of Meghalaya are famous for this crop 

 1. Hemp 

 2. Jute 

 3. Rubber 

 4. Cotton 

 yûT|��Ö\jáTýË� >ÃsÃ ¿=+&�\T � |�+³Å£� ç|�d¾~Æ 

 1. >·+C²sTT 

 2. ÈqTeTT 

 3. sÁ�ÒsÁT 

 4. ç|�Üï 

  

win
Oval

win
Oval

win
Oval



185. The Green revolution was first introduced in these states 

 1. Andhra Pradesh, Tamil Naidu 

 2. Punjab, Haryana 

 3. Sikkim, Bihar 

 4. Rajasthan, Gujarat 

 V�²]Ôá$|�¢e+ yîTT³¼yîTT<�³>± ç|�yûXø�|{ì¼q s�çcÍ¼\T 

 1. �+ç<ó�ç|�<ûXÙ, Ôá$TÞøH�&�T 

 2. |�+C²�T, V�²s�«H� 

 3. d¾¿ìØ+, ;V�äsY 

 4. s�ÈkÍ�H�, >·TÈs�ÔY 

 

186. In Europe for the first time in history workers, peasants and other 
non propertied classes were given equal political rights in this 
year…. 

 jáTÖsÁ|t K+&�+ýË yîTT³¼yîTT<�{ìkÍ]>± #á]çÔáýË ¿±]�Å£�\Å£�, ÂsÕÔ�+>±�¿ì,  

�d¾ïýñ� ç|�È\Å£� d�eÖq s�È¿¡jáT V�²Å£�Ø\T ¿£*Î+#á�&�q d�+eÔáàsÁ+ 

 1. 1792 

 2. 1871 

 3. 1848 

 4. 1830 
  

win
Oval

win
Oval

win
Oval



187. A ritual called Hiranyagarbha (literally, the golden womb) was 
performed by ….   

 1. Naga Bhatta 

 2. Ashoka 

 3. Dantidurga 

 4. Chandragupta 

 V¾²sÁD«>·sÁÒÛ (�+>±sÁT>·sÁÒÛ+) nHû d�+kÍØsÁ $~ó� �sÁÇV¾²+ºq y�sÁT 

 1. H�>·uó�³T¼ 

 2. nXËÅ£�&�T 

 3. <�+Ü<�TsÁTZ&�T 

 4. #á+ç<�>·T|�Úï&�T 

 

188. A voluntary organisation called “Rama Dandu” was established by 

 1. Kandukuri Veeresalingam 

 2. Duggirala Gopala Krishnayya 

 3. Mahatma Gandhiji 

 4. Bala Gangadhara Tilak 

 »»s�eT<�+&�Tµµ nHû d�Ç#áÌÛ+<� d�+d��qT @s�Î³T#ûd¾q y�sÁT 

 1. ¿£+<�TÅ£L] M¹sXø*+>·+ 

 2. <�TÐZs�\ >ÃbÍ\¿£�w��jáT« 

 3. eTV�äÔ�� >±+BóJ 

 4. u²\>·+>±<ó�sÁ Ü\¿ù 

 

  

win
Oval

win
Oval

win
Oval

win
Oval



189. In this village the caste headman is called “Pillas” 

 1. Bhavanapadu 

 2. Salakamcheruvu 

 3. Penamakuru 

 4. Kunavaram 

 � ç>±eTeTTýË Å£�ý�|<�ÝqT »»|¾ý²¢dtµµ n� |¾\TkÍïsÁT. 

 1. uó²eqbÍ&�T 

 2. d�\¿£+#îsÁTeÚ 

 3. �|qeTÅ£LsÁT 

 4. Å£LqesÁ+ 

 

190. The famous Kakatiya ruler Rudradeva ruled during 

 ç|�d¾~Æ bõ+~q ¿±¿£rjáT e+Xø sÁTç<�<ûeÚ&�T |�]bÍ*+ºq ¿±ý+ 

 1. 1158 - 1195 A.D. 

 2. 1199 - 1262 A.D. 

 3. 1262 - 1289 A.D. 

 4. 1289 - 1323 A.D. 
  

win
Oval

win
Oval

win
Oval



191. Identify the irrelevant statement from the following regarding the 
teaching of Social Studies at elementary level. 

1. Objectives are emerged from aims, aims give direction in 
Education. 

2. Aims are specific and clear, objectives have broader scope. 

3. Objectives change as per the subject, aims are related to 
whole education system. 

4. Objectives are achievable, aims have permanent values. 

m*yîT+³¯ kÍ�sTTýË kÍ+|�¾T¿£Xæçd�ï uË<ó�qÅ£� d�+�+~ó+º ç¿ì+~ y��ýË  

nd�+�<�Æ y�¿£«eTTqT >·T]ï+#áTeTT. 
1. \¿�±«\T �XøjáÖ\qT+&� �<�ÒÛ$kÍïsTT, �XøjáÖ\T $<�«ýË ~Xæ�¹sÝXø+ 

#ûkÍïsTT. 

2. �XøjáÖ\T �]Æw�¼+>±qT, d�Îw�¼+>± �+{²sTT, \¿�±«\T $Xæ\ |�]~óÔÃ 

�+{²sTT. 

3. $w�jáÖ���{ì¼ \¿�±«\T eÖsÁÔ�sTT. �XøjáÖ\T yîTTÔáïeTT $<�« 

$<ó�H��¿ì d�+�+~ó+ºq$. 

4. \¿�±«\T Ôá|�Î¿£ kÍ~ó+|��&�Ô�sTT. �XøjáÖ\Å£� XæXøÇÔá  

$\Te\T+{²sTT 

 

  

win
Oval

win
Oval



192. The present Social Studies text books at elementary level in our state 
are developed without considering the following theme.  

1. Production, Exchange and Livelihood 

2. Religion and society 

3. Social organization and inequities 

4. Disciplinary wise contents 

eTq s�çw�¼+ýË m*yîT+³¯ kÍ�sTTýË� ç|�d�TïÔá kÍ+|�¾T¿£Xæçd�ï bÍsÄÁ«|�Úd�ï¿±\T  

ç¿ì+~ �Üe�Ô�ï�� |�]>·DqýË�¿ì rd�T¿ÃÅ£�+&� sÁÖbõ+~+#á�&�q$. 
1. �ÔáÎÜï, $�eTjáTeTT, JeH�<ó�sÁeTT 

2. eTÔá+ ` d�eÖÈ+ 

3. kÍeÖ�¿£ e«edÓ�¿£sÁD ` nd�eÖqÔá\T 

4. ç|�Ôû«¿£ $w�jáÖ\ y�] bÍsÄ�«+Xæ\T 

 
193. By teaching the concepts like respecting the laws, paying the taxes 

on time and patience etc; to the class 7 students, these values can be 
inculcated.  

1. Aesthetic values 

2. Utilitarian values 

3. Vocational values 

4. Moral values 

#á{²¼\qT >�sÁ$+#á³+, |�qT�\qT d�¿±\+ýË #î*¢+#á³+, zsÁTÎ yîTT<�\>·T  

uó²eq\qT @&�e ÔásÁ>·Ü $<�«sÁT�\Å£� uË~ó+#áT³ <�Çs� ç¿ì+~ $\Te\qT  

�|+bõ+~+#áe#áTÌqT.  
1. kå+<�s�«Ôá�¿£ $\Te\T 

2. �|�jîÖÐÔ� $\Te\T 

3. e�Üï $\Te\T 

4. HîÕÜ¿£ $\Te\T 

  

win
Oval

win
Oval

win
Oval

win
Oval



194. After completing the lesson “Disaster Management” – the student is 
able to give reasons, illustrations about it – indicates this academic 
standard 

1. Reflection on contemporary issues 

2. Information skills 

3. Conceptual understanding 

4. Appreciation, sensitivity 

»»$|�ÔáTï\ �sÁÇV�²Dµµ ` bÍsÄ�«+Xø+ |�P]ïnsTTq |¾<�|� $<�«]� y�{ì >·T]+ºq  

¿±sÁD²\T, <��cÍ¼+Ô�\qT $e]+#áT³ ` ç¿ì+~ $<�«ç|�eÖD²��  

ç|�Ü_+_d�Tï+~ 

1. d�eT¿±©q n+Xæ\�|Õ ç|�Üd�Î+<�q 

2. d�eÖ#�sÁ HîÕ|�ÚD²«\T 

3. $w�jáÖe>±V�²q 

4. ç|�Xø+d�, d�T��ÔáÔáÇ+ 

 

195. This method provides more scope for teacher centered learning 
activities   

1. Source method 

2. Socialised recitation method 

3. Debate method 

4. Inquiry based method 

� |�<�ÆÜýË �bÍ<ó�«jáT ¹¿+çB¿£�Ôá nuó�«d�q ¿£�Ô�«\Å£� n~ó¿£ çbÍ<ó�q«Ôá  

�+³T+~ 
1. eTÖý²<ó�sÁ (Source) |�<�ÆÜ 

2. kÍ+|�ÓT¿£�Ôá �<�ZsÁ |�<�ÆÜ 

3. y�<�̀ d�+y�<� (Debate) |�<�ÆÜ 

4. $#�sÁD²<ó�sÁ |�<�ÆÜ 

win
Oval

win
Oval

win
Oval

win
Oval



196. To provide firsthand experience to students, learning joyfully and to 
avoid mechanical way of learning in teaching learning process – this 
technique is suitable 

1. Field work 

2. Class work 

3. Research work 

4. Home work 

$<�«sÁT�\Å£� ç|�Ôá«¿£� nqTuó�e+ ¿£*Z+#áT³Å£�, �V�ä¢<�¿£sÁ+>± HûsÁTÌ¿=qT³Å£�  

eT]jáTT uË<ó�H�uó�«d�q ç|�ç¿ìjáTýË jáÖ+çÜ¿£ÔáqT <�ÖsÁ+ #ûjáT&��¿ì nqTyîÕq  

jáTT¿ìï (technique) 
1. ¹¿�çÔá|�� 

2. ÔásÁ>·Ü|�� 

3. |�]XË<ó�q|�� 

4. �+{ì|�� 

 
197. The relevant specific quality of Social Studies teacher.   

1. Hard work 

2. Knowledge in current affairs 

3. Humour 

4. Tolerance 

�~ kÍ+|�¾T¿£Xæçd�ï �bÍ<ó�«jáTT� jîTT¿£Ø ç|�Ôû«¿£ \¿£�D²�¿ì d�+�+~ó+ºq~. 
1. ¿£w¾¼+#ûÔáÔáÇ+ 

2. esÁïeÖq $w�jáÖ\|�³¢ |�]C²ãq+ 

3. V�äd�«ç|¾jáTÔáÇ+ 

4. d�V�²q+ 

 

  

win
Oval

win
Oval

win
Oval

win
Oval



198. The Social Studies teacher has organised tree plantation activity in 
the village with the help of students.  This task is said to be 

1. Bringing the community to school 

2. Taking school to community 

3. Implementation of orders of higher authorities 

4. It is a part of the duties of teacher 

kÍ+|�¾T¿£Xæçd�ï �bÍ<ó�«jáTT&�T $<�«sÁT�\ d�V�²¿±sÁ+ÔÃ ç>±eT+ýË yîTT¿£Ø\T H�fñ 

¿£�Ô�«�� �sÁÇV¾²+#�&�T. � |��� �$<ó�+>± �|s=Øqe#áTÌ 
1. d�eÖC²�� bÍsÄÁXæ\ e<�ÝÅ£� rd�T¿=� s�e&�+. 

2. bÍsÄÁXæ\qT d�eÖÈ+ e<�ÝÅ£� rd�T¿=� bþe³+. 

3. �|Õ n~ó¿±sÁT\ �ÔáïsÁTÇ\qT neT\T#ûjáT³+. 

4. �~ �bÍ<ó�«jáTT� $<ó�T\ýË ÿ¿£ uó²>·+. 

 

199. The least weightage is given to this Academic Standard in 
summative evaluation of Social Studies subject 

1. Conceptual Understanding  

2. Mapping skills 

3. Contemporary issues 

4. Information skills 

kÍ+|�¾T¿£Xæçd�ï+ýË� d�+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£qeTTýË nÜÔáÅ£�Øe uó²sÁÔáÇeTT 

�eÇ�&�q $<�«ç|�eÖDeTT 
1. $w�jáÖe>±V�²q 

2. |�³HîÕ|�ÚD²«\T 

3. d�eT¿±©q n+Xæ\T 

4. d�eÖ#�sÁ HîÕ|�ÚD²«\T 

 

  

win
Oval

win
Oval

win
Oval

win
Oval



200. After thorough preparation, the Social Studies teacher taught the 
lesson, ‘Gender Equality’ and also gave assignment to the students.  
The preparation of activities on lesson and giving assignment comes 
under these phases of teaching.  

1. Pre-active, inter-active phases 

2. Inter-active, post-active phases 

3. Pre-active, post-active phases 

4. Pre-active, inter-active and post-active phases 

|�P]ï>± d�+d¾<�TÆ&îÕq ÔásÁTy�Ôá, kÍ+|�¾T¿£Xæçd�ï �bÍ<ó�«jáTT&�T »*+>·d�eÖqÔáÇ+µ 

nHû bÍsÄÁeTTqT uË~ó+#�&�T, Ôá<�T|�] $<�«sÁT�\Å£� �jîÖÈq+ Å£L&� �#�Ì&�T.  

bÍsÄÁ+ >·T]+ºq d�+d¾<�ÆÔá, $<�«sÁT�\Å£� �jîÖÈq+ �eÇ&�+ nHû ¿£�Ô�«\T  

uË<ó�qýË� �ç¿ì+~ <�Xø\ ç¿ì+~¿ì ekÍïsTT. 
1. |�PsÁÇç¿ìjáÖÔá�¿£, n+ÔásÁç¿ìjáÖÔá�¿£ <�Xø\T 

2. n+ÔásÁç¿ìjáÖÔá�¿£, nq+ÔásÁ ç¿ìjáÖÔá�¿£ <�Xø\T 

3. |�PsÁÇç¿ìjáÖÔá�¿£, nq+ÔásÁ ç¿ìjáÖÔá�¿£ <�Xø\T 

4. |�PsÁÇç¿ìjáÖÔá�¿£, n+ÔásÁ ç¿ìjáÖÔá�¿£, nq+ÔásÁ ç¿ìjáÖÔá�¿£ <�Xø\T 

 

 

 

 
 

win
Oval

win
Oval


